MEEANSETRAIDFEHEENESE
RFHMEE (EEMR : BEFREARETL)

B2 ERSEE 5 ERE&HE
OB $1,0001%5OEE $200
ROME $200(#5 Ol $200
HHOE $10,000[ZF 0% $200
P O3 $10,000[#£O5H $200
OK $100[&kO & $200
FROEE $500,000|#& O3k $200
=0O= $1,000,000{58 OF $200
O $100(BE OF& $200
=0 $100[5EOFE $1,000
ZFOR $300[F8 O $250
=OR $2,000[#8O=C $250
HOFEE $100[F8 O $250
BO4 $100|FF OB $1,000
HOZE $I00[KOZE $500
HOE $100| EOREST $1,000
HOER $100[#OJE $500
O $100{#R O $500
HOEE $100( P OFF $200
£O% $100[& OFE $200
SO $100|=OsF $200
HOE $100[5R O $200
P OfESE $100[FH O $1,000
HOE $100(#xOJEL $100
HOE $200[Z0O & $250
FOHER $100[FROH $200
FOE $100[ O $100
HORE $300[; O FFE $100
EOMR $100[&#EOFk $1,200
HO%E $100[BRORE $1,200
BO=E $100|FEOE $1,200
O $100[f57O H §# $1,200
EOF $100[Z2O $1,250
HO&F $100|EEO%H $1,250
=0 $100[ZZO%H $1,250
=0 $100[FOHy $1,250
=OE $100] = O $1,000
HOZE $200[EHOFE $400
HOFRE $100[EHO S $600
=0%F $100(58 Oft $200
=OME] $200|=OIH $1,200
O Z $200(| 50O $1,200
P O¥E $200[= O % $400
O $100[E O $400
O $100[EOEK $100
B Ol $200[EOEK $400
EOM $100[faT O£ $500
HOE $100[faTO & $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 RS i EREEE
BRO® $100| & O $5,000
BROFEBE $100[fHO& $200
FHOE $100| EOHH $200
RO $500|15FO& $1,000
RO $200[ FE O $200
RO $1,000|Z5OFF $500
SO $1,000[#HOFE $500
FO $10,000|EFO%E $500
EEOM $500| O $500
BEO $500| 5 OfF $1,200
BRO%E $500[BHO £ $1,200
BAOH] $500| = ORE $10,000
BO% $500|ZEOH5E $1,000
EOM $500| Z 2B AR B3 A PR A H] $500
BROZE $1,000{FF O $100,000
HHO% $1,000[EO=E $10,000
EOE $1,000Z20O % $50,000
OB $500[ FOn $1,000
FEOR $10,000[# O $500
20E $10,000[#F O $100
e O $10,000[#O14 $100
= O $10,000[#[ O & $100
FOE $20,000|EFO1= $100
HOSHE $40,000[# O $100
22OH $100[Z2OH $100
=0OE $1,200| O & $100
HOE $1,200| =0 $100
=O $1,200{5 0% $100
=HOH $1,200[=HOH $100
RO $1,200{F O $10,000
HO®E $200|1#ROFk $100
RO $200[f OB $100
=3I $200|1#ROzKHE $400
&R OFH $1,200| = $100,000
T O% $10,000)3 OFF $1,000
OB $100,000| EOFkE $200
+0OH $10,000|FEO#F $300
FOH $2,000|Z Ol $300
RO $2,000|FEO$8 $300
EORE $2,000{ZZ O $500
EOF $2,000| B 5 BB ERL (D BEIRAE | $300,000
FHOWE $1,200{ = O $2,500
= O $1,200 = O $2,500
=TT $30,000[#kO REIZ $600
HORE $3,000{8kO1- 25 $2,000
HOE $1,000[#ROZ $500
SO $333[5#O $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] 2 b
RO $333| =075 $200
ROFE $334|tRO%a $200
=0 $500] 52 OA $100
MO $500[EFE OB $100
MHOE $10,000{SEOJEL $100
g OWs $10,000|2O& $100
FO#REH $10,000|Z£OFE $100
BO% $10,000| £O%% $1,000
L O $1.200{52OF= $1,000
HOZ $1.200[=OfZ $2,000
ZOE $1.200[ZRO# $1,000
FROZ= $500[= Ofi% $2,000
HOEE $10,000{ OG0 $3,000
O $2,000[EO5 | $100,000
ety $1,000,000|z=O% $5,015
FEL] $8.,750 ek OJft $300
P $8,750| = Ot $3,000
FEIH $17,500)BR O#L $1,000
i $1.200[FROA= $1,000
HORE $100,000[Z2O % $1,000
A OFE $1.000[ZEOlE $300
HOFH $1.000[HEO#F $2,000
BROF $2,000{FO= $1,000
ROFF $100[EOA $1,000,000
SO $500[fa O7A $500
RO $1,000| B O $100
fZOA $300[EFOA $500
£0E $1,000|BHO%E $1,000
PROE $200,000[F=OF $2,000
HOE $500[¥E O $122,000
PO $230[5 Ot $500
RO $2,000|F O $500
PRO= $600[= O $200
BEOTE $1.200[ROF55= $1,000
B A RN E] $1,000) B O $100
=0+ $5,000[FE O $10,000
w=ORM $500[/H O $1,000
FROZE $500|EOEH $1,000
FO=E $1,000{FEOE $500
BROE $50,000| R OZK $1,000
=O% $50,000{Z£OFT $3,000
EOFE $200[=OL $200
PROZE $500[/H O] $10,000
FOt&E $1,000|1 EOIE $10,000
BO% $1.000|1#kO358 $2,000
HrO= $2,000|F O $400
O $200[ O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
Ok $200[2O%x $100
FEOBT $200[FO= $400
HOE $200)7% -5 $400,000
BROTE $400| 5= O $1,200
£Z0% $500[FRO=2 $800
B O $2,000[FEOEE $500
ETOH $100| FEOF# $500
RO $100[HO& $200
O $1,000|210J= $1,200
RO $2,000|5OE $1,200
s O $600[#FOF5{F $100
EO= $200[#0O4 $100
BROE $500[HEOBK $100
£OkE $500[HEO & $100
BO $39,000) OE (K $100
BROH $10,000)3 O $100
BEOH $1,000[HLOFEE $100
BOH% $1,000{ O $100
FORE $1,000[3LOHE $100
#HOZ= $300[FO = $100
PMOBHUTE $60.,000| f OFE T $100
O $10,000[#O $100
RO $300[ O $100
BIOHH $300[H£O $100
FOK $400[HEO $200
B0 $400[t5O3L $100
ZFOHii $400[t5O3L $200
FOE $400[+FOF= $100
O $250[MO= $200
wOME $250[/ROF $300
s O $250|122 O $300
FOE $250[BRO¥A $300
= O $250 &k O $1.000
HOE $250|BEOIFEEFK $500
#EO=A $250[= OF=] $100
O $250| MR OHg~Z $100
HE O $500 (R O $100
RO $250[=OFE $100
=0% $250|E O $100
O $1,200{ZLOFA $100
BIOEN $10,000|ER O $100
SO $5.000) B O $100
SO $5,000[FROF5HE $100
PROTE $10,000[FEHO= $100
RO $1.200|5O= $100
H OFZ $100[5R OFH $1,200
OB 4= $100[FRO== $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
EOB $100[F O $1,000
i OFF $100[BEOH $200
HOH. $100[ZROH $200
H OFH $100[F= Ol $200
RO $1,000|E=O2& $200
HOE $100[=OFE $200
FHOF $100] &5 O Rl $200
FORE $200[ O $100
£0% $500EO=E $200
OB $300|AO=E $200
wO¥ $1,000| A O1H $200
FROZ= $500[ RO & $200
BEO $1.000[#ROH $200
=0% T $3,000|1E=OFE $100
BOZ% $20,000{EO*F $100
RO $1,000[=Os% $100
FHOH $100|2OF $1,200
HO%E $3.000[FROZ $1,200
= O $1.000{FROFE $1,200
FOHAF $2,000[z= O $300
#O1E $100[FOE $1,200
PRO$Y $100|HE=O3i $1,200
=0%F $1,000|5E=O i $1,200
=0% T $500[FHOFIL $300
FOFEE $10,000[HO’& $300
FOH $1,800| EOEH $300
=0% T $1,000] O40 $500
w10 $200[F1OE $300
FOZE $500( % OF% $200
F O $200[PRO= $500
FROM $1.000{ = OFE=Z $300
2101 $500[ & OF $200
FEOWF $2,000|BE O $1,200
HOEER $1,000)BEOFT $1,000
@) $500[=O $500
O $500[BEOH $2,000
FOEH $300| % OBF $2,000
HOFE $300|EkO= $1,000
FOfE $300|ZFO%E $1,000
ZOH $300[BIOF $100
HOJH $300[Er OB $200
EOH $200|FEO% $200
HOIF) $200[ IOk $100
HOEEH $200[FIOfF= $100
HO#H $300| 2O HD $100
HOH $300| 21O $100
HOFE $200[F1O & $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
LORL $1,000[FEO/ $100
tROZE $600[B] O $100
PROAL $600[H=O 1 $100
FOE $600[FEOfZ $100
i OF $1,000{¥ O3 $10,000
FHO $300[fR O $10,000
SOV $500[FEOZ& $2,000
RO $5.000/ O & $10,000
MHO& $600| O+~ $1,200
T OR $500| O+~ $1,200
RO $600[H O+ $20,000
RO $600 | F O I $1,200
FOE $600|ZFOFE $1,200
I O#& $1.000[F=OF- $100
PROIT $10,000|E O« $4,000
£0U1E $100[7=OH& $1,000
RO $125[FOF $3,000
ROG $125[{TO B $1,200
RO $125|m OF $600
OB $125|HOE $1,000
BOE $200[EOE $100
R OFHE $1,000) O $100
£0H $100[EOZ $100
£ZOJN $100[Ex O $700
ZOR $100°TOP $10,000
BIO= $100[FNOFE $300
w=OR $1,200| 21O $300
EHOFELR $10,000|FO%K $300
O $600[2[OZ> $300
OB $500[ZF O $300
PO $200[F O $300
JOE, $100|=O=E $100
(hO= $500| = O $300
HOT- $1,000|#H# OE $1,200
B E R T B 22 [F] £ $10,000)5 O $2,000
H SR hEE $6.000[ A O $2,000
=0%F $200[ ¥ O $1,000,000
TORE $300[FEEOEHD $500
FEORT $300[BROFEE $1,500
BO% $200|1FO1& $1,000
MOHE $5.000[fEOLK $50
PO $5,000{ 52O $100
SO $1.000[7ROZE $1,000
FEOMF $200[FOHE $100
PROAK $1,000{ZF O $1,000
EO%E $2,000{= O $500
BROETE $7.000[fZ2O A $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

L8 PR 215 B EE
HOH $10,000[iFOFL $100
HOFg $2,000|FR O $100
BOLEHD $100,000 =0 %HF $100
O $500[FRO T $530
HEOHE $30,000| 2O $1,800
=0 $2,000|HOF $1,500
RO $500|ZF OB $1,000
=OWs $2,000[#£ O $100
RO $1,000[FEOLL $100
O $1,000| F O $100
ROE $L,000|#ROE $500
2O $1,200| B Ot (#50) $500
FOHE $1,600|FEOE $500
FOBEWE) $1,000(BAEOF $100
BRO $1,000| EOE $1,000
HFOE $1,000[EFO $200
#O $200,000|Z& O $100
ROZE $1,000|128O £ % $100
=OK $2,000|#RO8E $100
BEOBH $300[FROFE $100
T ORE $1,000|5ROSF $100
EOR $100[2E O $100
BOE $100[5R O~ $100
EO=E $100[5EO%F $100
@) $SI00[FROE $100
BOF $100[EOXE $100
HOE $100[5ROJH $100
=0 $100[FBOZ& $100
=0 $100[5ROX $100
=OE $100[&x O $100
SORE $300{F O $100
=HO®E $2,000|5EO#K $100
20OH $100|ZE O $100
T LOE $300[5ROZ $100
ZFOK $300[5ROHi $100
ZFOR $400[Ex O $100
RO $3,000|Z1Of= $100
B O $500|E OB $200
PO%E $1,000[ O#F $1,000
B OE $1,000|FEOAL $500
= Ok $200[fOFEH $10,000
MOE $200| RO $300,000
FO®&E $200|150E2 $1,500
MO $500[FR Ok $3,000
PR Oz afe $3,000[FH O $250
BO=EE $1,000|B O $250
HOWE $30,000| EEhkE & $2,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FOF $10,000|ZEO#E $200
HOEGHK $4.0005 B O%k $200
s O $1,000|5EOE $200
HO%R $1,000{TOFE $500
PO $1.200[FH O $1,000
EOH $1.200[FH O $1,000
O $5,000{5O $5,000
BORE $500[ = OFR%k $30,000
B O $1,000FEO% $500
HO $1,000[# OB $400
BEOT $5.000[EEO~F $1,000
O $500[21O= $5,000
O $1,500) 8 OFF $5.000
RO $110[38OF= $30,000
8 OHE $10,000{5E O $300,000
FIOF $100[E= OF5 5 $1,000
FOPE $2,800|=0OFE $1,000
#rOAL $5.000(# O $1,000
EORK $100[#HO=2 $1,000
=OE $1.000|1 PO %E $1,000
= O $1,000|kOF $1,000
BOZ= $1,000|ZE O%k $200
s O $2,000FEOF $400
s OFx $200[= O &= $400
w=OR, $500] & O 5 5% $500
ZFOHE $200[BROAK $200
RO $500[BROAK $2,000
=2 OF $500|Z£OAIfE $100
EOH $1.000 (PR O $400
BOKE $5.000{2£Of# $100
&L OPH $500/Z£OM $100
ROPE $150|Z20 R $100
TR OFHE $150|B1OF= $100
et OB $1,200|4OFE $20,000
i OBk $100)| O $1,000
BROS &5 $300|F O $300
O $1,200[#EOEE $200
H O $10,000[z=OH $400
HO%H $10,000[= O fit $400
HOE $10,000[5RO#% $400
MO $10,000[F= O $400
PO54 $10,000|#k O $400
TOT $10,000) F O il $400
TR E BT AR A E] $100,000|BROE $400
TOk $50,000| B O1E $400
FROHL $100[fO = $400
FROHL $200]fs O%E $400




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BO== $1.200[= Ok $400
BROHE $1.200[H Ot $1,000
i O% $100|H O $1,000
H O $600[E&r O $1,000
O $1,200|=0OF $200
O $1.200[E O $200
HOZ $1.200[E O $200
g O] $1,200|E O $200
O % $600[t7O%E $200
BXO#E $1.200[ZEOHE $200
i O $600[ECO $200
= OB $600|22 OBk $100
BROFT $1,200|122Opk $100
BIOEX $1.200(E O $100
BHOAE $600[Z O+ $100
w0 $600[FEO*E $200
F O $600[FEOH $200
BROF $100|5FROFE $200
BROE $100[t5OFE $200
BOWM $100[tOF $200
EOTT $100[FEO=# $200
EOR $1.200{ EO*% $200
FROTR $1,200)| EO# $200
O $1,200| O $200
wOfE $1.200{Z O $200
=HOS $1,200|fE O $1,000
= ORAT $1.200[E Ok $1,000
SO $200 |2 O [al%k $500
O $200[:5 O <15 $500
EOMRE $1.200[EEO $10,000
RO $1,200) O R $100,000
HOZR $200[E8OG $2,000
O $1,200) 5 OFE $5,000
OB $2,000{= O $5,000
L O $1,200|=OE2 $5,000
FEOFX $1,200{FE Ot $500
ZOK $1,200)5FOHE $6,000
PROZ $1,200[ ¥ On $100,000
= OF $200|5=O4 $2,000
BOF $600| O & (#0 $100.,000
BEOzF $100[EO# $10,000
BOE $500[EROSFH $10,000
BOE $500[ER OFE $1,000
PO $200[EHOFE $200
POk $2,000|# O % $500
PO $1.000) ¥ OE $500.,000
PROZE $2,000{ £ O $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BOE $2,000| Pk O%F $2,000
BRO B $1,000| Pk O% $1,000
Z2OIBIED $10.000[FEO 4 $100,000
PROE $10,000[FRO=E $20,000
O $10.000| & O#fF $600
=00 $10,000|1 kO $4,000
=OFHTT $10,000{HAO AL $100
RO $1.200[# O $20,000
HOTT $100[HIOA $1,200
21O $1,200)B O $600
BIOPAT4 $1,200| 1O $1,200
frO= $3,000|f1O=E: $1,200
O $100[HIORE $1,200
mOE $100[HIO $1,200
mOE $200[ IO $1,200
ROF $300[RO= $1,200
BRO1E $100[FROHE $1,200
BRO1E $100[HIO I $1,200
FO=E $10,000|E O $1,200
LOE $200[FEO $1,200
SO $10,000| kO <= i $600
PRO% $5,000[ = O % $600
MO $1,0005504: $600
=0 $1,200( % Ottt $10,000
RO $1,200| O3 $600
FROHRE $20,000|= O $10,000
EO $1.200(#% 0O X $600
BROTE $1,200[=O%I & $600
FOE $1,200)8 O 8t $600
O $2.000[FROEF $600
O $1,200|=O% $600
O $600| 22O $100
HOLH $600| 22Ot $100
#ROR $600|12E2OE $100
FOFAE $1,200|FO& $100
PO Hi ] $600[ZFOEL $100
g OFd $1.200{ PO $100
EHOH $600[2£O% $100
+O= $600[HOE $100
FHOPTE $600[#E O $100
BOE $600|#EOTT $100
PO $600[f17O H $100
s TORrik $1,200[#Of& $100
BROZ) $500[#FOf& $100
BRO®Z] $500[2£O= $100
#HO= $500[#HO% $100
O $5001 22O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
A O] $1.400|2£ O $100
RO $1,200{#O4E $100
#EO[H] $400[FOZK $100
gEOA0 $400| O $100
#®O= $400[E O $100
#®O% $400|EEOZEE $100
#HO=H $400[BRORE $100
FO%H $1.400) B OLLI $100
LOZE $1,200[B O <3k $100
TOW $1.200[FRO% $100
2ORE $1.200(FROZE $100
BPOFFAL $1,200|BHOZ $100
e OPT R $1,200|BHOHZ $100
HOZE $1.200|5TF O $100
O $1,200|122 O $100
HOF $1,200|1#% O $100
HO=E $1.200(#% 0O & $100
210 $600[#5 O $100
HOH $1.200{#5OH $100
FHOF $1,200|1 8 OF $100
FHOK $1,200[#EO ffig $100
FHOEAE $1,200| 52O $100
FOK $1,200| RO $100
FH O $1.200{5OF $100
PROAH $1,200{zFO1E $100,000
BROZR $300[BROSL $400
AORE $10,000| F Ok $300
FROE $10,000[FROF5 $300
RO $10,000|E3O & $100
ROZE $10,000[#AO%z $100
BOf $5,000[FROF= $100
2O $200[#FOF $1,200
PO $10,000/EEO $10,000
HRATE S $1,200) O, $10,000
FORGE) $6,000| & O $600
Z0OH $500|7EOZ $1,000
=OF $1.000[FROA= $600
=OT $500[ O $1,000
AEO%E $3,000)FF Ot $1,000
BOFE $3.000)FE O $5.000
HOZ $2,000[FFOBHEE $10,000
s OFH L $1.000[2£0 $2,000
=0% $1.000(¥ O = $5,000
MO $1,000)5#=O=L $1,200
MO $1.000[{iOJ5 $600
MOz $1,000)E=OE $600
PORE $1.000{#£CO $600




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
MHOE $500)i1O $3,000
BOR $1.000{5O%E $10,000
RO $1.000 [k OF5 % $10,000
o4t $3.000[z= OBk $10,000
= O $1,000) 2 O~k $10,000
TO# $500| EO% $600
ORI $600| EO%¢ $10,000
gO& $100|22O% $3,000
s O $300|2£ O H $2,000
HEOR $1,000| EOF = $8,000
BROH $100[FROE $600
EORE $50| O $3,000
s OBt $5,000[FR Otk $1,200
BOZ= $5.000) % OE $2,000
HOJF $2,500[E0 $10,000
BRORE $2,500TOTE $2,000
@) $750PTOH $2,000
O $750[ETOIE $2,000
H O $1,000[5FOR $2,000
BROZ $1.000)5F O iy $2,000
20O $1.000[5FO= $2,000
ZO9r $1,000{8F O $2,000
EO/N $1,000|5F Ot $2,000
£0H $1,000|# O $10,000
£Z0OH $1,000) BAEEH $100
ZOME $1,000[ L LHH A $100
£ZO% $1,000| P F=Mrb $100
s TOR $1,000[PRAEE $100
HROF $5,015 ) THESE $100
O $500|ZEE G $100
EOFE $50|+2 2R $100
sTOM $1,000 | B % R $100
FO= $2,000|ZENHZ $100
B OF5 $5.000) T E AR $100
RO $1.000[FRZEER $100
FOmER $300| {258 $100
SthEE $2,000| 2 $100
EMELEE $5.000| 2 $100
HOLE& $5,000[ %% $100
AEOE $250| £E 5 AR $100
=05 $150|1%FO $1,200
g OB $100|E=0OE $600
ZOR $100[#FOF% $5.000
BROIE $100[BROTH $600
fiti OF $100[FROIE $300
FOEZE $1,200|##H O $200
T O $600[H O $600




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FHOLL $1.200[fE O $600
BROE $150[FH O $600
H O $1,000] 5 Ot $600
PO $600[EEOAE $600
ROE $1,200)0 $600
IO $10,000|F O $600
70O $600[FROF $200
iTOTF $100[BR O $200
RO $650[7E O $200
ROSHE $300[;EOT $200
FOH $600[ZIOF] $600
SOt $300[ = O $200
RO $500[E=OFE $200
PR Ok $500|=FE O $200
BROZE $100[57RO*= $600
BEO $1,200) = O $600
EOTE $100|EOF% $600
HEOM $600[#AO I b $600
O $100[EHOB $600
BHOR $1,200[AEOF{% $600
B O] (#0) $150| RO $600
H=O $600[#F O $100
HOHE $100[Fa Ok $1,000
BROZ $100[;&EO T3 $200
AEO8% $500[21OZ $100
BRO%E $600|22OE $400
ROZEE $100[ EO= $400
POt $100|F O%k $400
w3 $100[&£ O $200
BIOH $100[EE Ok $400
s O $100[ER OBk $200
Z0Oia $1.200)EO H $1,200
H O $600[HEOSE $600
w= O $1,200( % OB $1,000
HOF $1,000) 58 OFL $500
T ORI $1,000|# O $300
FEOEH $1.000|1 RO $50,000
TOHk $150[£50OHk $500
PROZE $150|=AOZF $10,000
BROZZ $150[#F Ok $10,000
HEOFEH $250)| £ OFK $10,000
fitt O 1 $100[£O $10,000
fitt O>L $100[FO5E $10,000
LO= $100|%20O $10,000
O $100[t5O% $600
g O $100[BBO i $10,000
O $100|BO% $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
qOE $100|E=OTE $1,000
FOZ $100[PROE $1,000
RO $100[ TAESE $200
s O $100|ZEE G $200
SO $300| +=2E i $200
HOEE $300 [ RE $200
s Offi $100| &g $200
sTOfE $100 & £x $200
BOT $100[FREEER $200
EHOH $100 | {E o $200
sHO Y $100[FHEESE $200
#ZOREH $600|HEE $200
BROEK $100|# & $200
BROE $100) & 5 o $200
BRO B $100(21OFd $600
@) $100| O $300
BROH $100[ 5Ot $500
BROTE $100[5F O $500
BROE $100|J5 O $500
BROZ $100|EE O $10,000
PROE $100[ TAESE $200
BROHH $100|ZEE G $200
BROLT $100| 3£ $200
FO= $600[FEE % $200
O $600|ZENEZ $200
JORX $600 | & £x $200
RO $500[FREEER $200
BOE $1,000 |t (&5 $200
FOEED $600|HEEE $200
BROF $1,000|FH¥EZ $200
RKOT- $1,000[ %% $200
O $1,000| & &t oA $200
sTORL $100[fEOK $1,000
PROZE $100|EO%x $1,000
2IO& $100[EBOR $100
BROZ $100[FO1a $100
PROR, $1,200|EFO%E $100
BROH $600[EEO $100
BROINE $600[EF 5 $100
BRO#E $600|2£ O $100
BRO% $600[EFO = $100
MO $100[=OF% $100
O $200|E=0OF $100
FOH $1.000[= O $100
FO# $1,000[3# O $10,000
FEOHL $4.000({TOPr $500
AHOE $100[ 2O $500




REFHMEE (EEMR : BEFREAR'ETL)

MEEANSETAIDFEHEENESE

1 2 X | Eati] HRREER
FEORM $100|3= Ok $100
AEOH $100[#AORk $100
ROFE $100ta O $100
R OfH $100|ZFO= $10,000
ROZE $100[5OF5 $1,200
HROEF $100[=O#h $500
=0 $100[=O®E $1,200
BOE $100[#7 O $8,300
EHOZ $100|EOfF $2,000
tROE $100| 7= F-&iE T2 AR E] $500,000
=OH $100| EO#= $100
RO¥ $100[HEO= $500
SO $300[=O 5 $150
ZO®E $1.200)£O%F $250
MO $1,200( % OHF3E $100
=04 $1.200|8OF $100
RO $650[FRO1E $100
O $600[ ORI $100
BROE $600| EOZF=E $1,200
HE O $333| EO $600
FEOSL $333|fR O $150
FEOWS $334|H O $1.000
PROZE $2,000[ZF O $250
BRORL $6,0001Z2O $600
O = $2,000)5FO T $100
FOF $5.000)5= O $300
LR e AR E] $2,000[5R O F $300
5 RS- REAE $600[FEOHE $600
B i $1,200) %Oty $300
E S AR E $2.400| B O $500
ZOZE $3.,000) B O3 $500
HOSL $3,000[FF Oz $100
BOHE@HE) $10,000EO*E $100
FR OB $1,000|FEOFE $600
ZFOE $1,000|EHOFT $100
FO%E $1,000) = OJH (0 $150
FORL $1.000|FOZEFE $10,000
OB $1,000|BEEOF $5,000
fOEE $2,000[ O $100
w0 $10,000{7£O $600
LO%R $5.000|EO& $100
FOR $100[fR O $100
BROZ $10,000HOF% $100
= O%E $500[7ROF $250
F0& $500[5R O $250
O $10,000[5£O $250
ROME $600[7OEEE $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
O $4,500{ kO $100
BOHED $20,000{5= O $100
BROTH $600[B1OA $100
BRORE $600[ = OKE $100
BROZ $600|J5 Ot $600
BROX $600[EFO#A $1,000
BROHE $600[ EOHk $150
ZFOlE $600[FRO%E $150
BROIA $600[BROZ $150
BROZ $600 | Ot $250
BROZK $600[HO=F=2 $500
ZOW $200[HEOTE $100
ZOE $200[EOL $100
sTOFE $200|&C O=F $100
FO® $200|BO%f $100
s OF $200[ & O $100
BROBK $1,000( % O $100
BOZ $200[ 2 OF $100
Oz $100,000[FEOZ% $100
BOZ= $100,000{FR O $100
BOZE $100,000{z= O $100
HOE $1,000|Z O $300
BROH $100|HOEE $300
ZOligg $100[ET O $100
BRO$ $100[ETOfE $100
s O $2,000|#OF $100
i OFK $1,000[EHO % $100
e ORI $1,000|EHO$# $100
O $10,0001Z=OFEH $600
BOFE $100[BROFK $100
BRO# $2,000|EEOZ $100
RO $200[FR OB $100
=0% T $1,000|EE O $100
TOFHHE $200[BROH $100
PROYEZE42 A $2,000| B Ot& $100
MO $6,000|PEOF $100
FOBEA $10,000| R O 2 $100
BOZRE $10,000[BROE $100
O $1,000|BROfiEE $100
FO75 $200[BROLY $100
sTO4E $100| EO= $600
s O $100[J5 O $600
i O%m $100[ 5 ORX $600
MHORE $100[52 O $500
MO $100[FEO = #HD $600
fer O $600[EO4E $1,200
=OH $2,000[7RO%E $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HOFE $4.000[FFORK $100
BROMW $50[ PO $100
B O% $500[FIOf% $100
w1 Ol $500[BROZ $100
PO $1,000|BEO &, $600
£O $6.000| PO $100
FO% $1.000pHO% $200
Ok $300| O $300
2102 $200| =OF $200
= OFf $1,000|FEOsl $6,000
sROME $10,000) %= O%F $1,200
MO $S0[HOE $100
7r e BEEE RN E] (EReE{ $30,000[FEO* $100
FHOrtE $200 [ O%H $100
EOT $3,000[5R O & $100
O $200|5=OH $100
=OE $100[5OZE $100
ORI $100|5=O%EF $100
O $100[=O% $100
BAORE $100[tOF $100
BO= $100[2EOZ $100
BHO®E $100[ERO T $100
RO $10,000[5£O H $100
s Ol $5.000|5:O2 $100
HEOSER $10,000[FFO%E $400
AR &R $2,000{ O $1,000
HEONE $500[ =0T $1,000
i O $1,000| =05 $1,000
FO8 $300[=ONE $300
Jit O $200[BB O $600
HOFE $1,000|BEOF $600
O $1.000[FEO A $250
HOE $200[#EO L $250
T OBk $100[#EO $250
FIORK $500|122 OB $200
BROE $250| =0 $100
OB $500| EO#= $100
PR Ol $2,000{ FOH $100
HO= $100| O~ $100
EOR $100[5OZ%& $200
TOHD $100|=OH $100
£Z0O% $100[FO & $250
HOFEE $20,000) O F $100
BOE $5.000|{E=O$, $500
Ot $600[H OB $10,000
HOE $10,000| 68O $10,000
HO% $560[FROJH $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] 2 b
BHOE R $100[BROZE 5 $10,000
BHOE $1,200| = O $1,200
FO% $2,000|FO $2,000
BRORK $5,000[FROF $2,000
O $2,000{5O% $5,000
g O% $2,000[%=0 $2,000
AEORH $1,000{%=0O4: $10,000
s O $600[FIOFK $2,000
e O $600[BIO% $2,000
=OH $800[EFOfE $10,000
BROZ $1,200) 4] O3t $1,200
PROLL $1,200|122 OB $1,200
BROF $1,000|Zz 54l 25 A TR H] $500
TOM $1.000) & FEHARE- REAE $600
LORZ $2,000) EOFEE: $200
w O $10,000[£5OF+ $200
w=OF $10,000[ =0 $500
BROMBE $1,000{#AO 7K $200
i O $200[ O $200
O $10,000[FR O $1,000
#rO7K $10,000| £ OF $500
£0E $1.200|2£OFF $2,000
FO= $600[£EO $250
O $1.200[&E OF% $250
HE Ol $1,200|2E O $250
EO# $600|&E OF $250
EOH $600[E= O $500
TOF $100[#EOHH $100
ZOH $100[EOJE $1,000
£ O $100[#FO=E $500
TO= $100[ZFOF% $50,000
= OHk $1.200[150O & $12,000
PrROM $1,000[RKOZEEE $500
sTOE $500 B O $200
BEOWH $1,200| O $200
BROZ $1,200{ O $200
RO $1,200{ FOH $200
BROE $2,000| O] $200
FOM $500[ O $200
BO% $2,000{ RO = 5E $200
FHORE $5,000[ O£ $200
BROMW $100[FE O $200
BROZ $100[ZF= O $200
BROBRR $100[BEO B $200
BROA $100[FOF $200
ROTS $200[ZF O $200
HROF $200|F O $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
RO $200[ZFOHk $300
HO#R $400[ = OJF $1,000
T Ok $10,000|EOf= $1,000
TOM $10,000| EOH $200
RO $600[ & OB $1,000
BOFH $10,000|fE O $1,000
BE% $1.000[Z£OH $2,200
R $1,000{FOPH $20,000
FROZ= $250[ R OB $100
HOE $200[FOH $10,000
£0% $500[ER O $50
FOK $3,000{#OEE $50
PROH $15.000|1 Pk O3 $2,000
HO& $1,200) &= Ok $1,000
FHOE $10,000) B COBH $5,000
O $750[FRO1E $1,000
O $750|1 = B SE AR E] $1,000
EEOHE $750| O $300
=O% $750| & Of $300
A OB $1,200[#5O%% $200
ETOLES $100| B O $100
st OgY $600[tEOHF $200
FO% $1,200| 52 OA $100
O $1,200|=F O $100
=0% $1,200[52OJEl $100
BROE $1.200[EO= $200
RO $1,200[FR O F5 $200
210 $1.200|1# O % $200
FOFE4 $500[EPOHR $200
Ok $500[ POt $700
RO $1,000| = O= $200
MO $250[FROZK $200
PBROZL $1,000) % O H #k $200
HEOZ $10.000| KO8l $700
HEORK $2,000[ZROF% $700
#O $1.200[R O $200
O $2,000)% Oth $200
Al O $1,000{ % Ok $200
POMS $1.000[Z£ O $200
+Ouk $2,000( % O $200
BOM $8,000) % O=F $200
MO $500[ 2 OF5 $200
FOHmF $1,200) 8 OFE $200
BROSE $1,20015 0 $200
HOB $8.400|1#kO4= $700
EORK $500[#O1E $700
=0% T $100] = OFEFL $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
POBE $10,000{#O % $200
A O $1,000[#OF $200
A Ot $1,000)#H OFE $200
EOH) $250[FHOBE $200
FOE $250[t O $200
FOR $250[ O $200
SO $250[FHOFH $200
MO $500[FHOth $200
FOM $500|HOF $200
=OEE $10,000) 3 O $200
O $10,000[H O $200
i OFE $3,000)210 $2,000
FORE $1,000|F O%r $600
H O ] $5,000{ = O $200
PO $2,000) BE O $600
BOfT $10,000[=O#: $600
BOH $10,000[F O™ $200
MO $2,000) O $500
{HO5% $2,000| 210 $1,000
AOIE $8,000| = O $500
HO&T $1.000[@FOZE $1,000
O $1,000|5R O£ $500
BRO% $10,000|FOFE $500
BROZR $200[FOHE $500
BRORHE $200|fs OF $200
ROE $100[ = OFF $200
FROLE $500[ = OF& $200
st OBk $200| = O $200
PR O $500|21OF $200
BRO $1.000{ &= OfF $200
TOERL $600[ = & $100
w=OR $1,000{=0O+ $2,000
FEOAN $1.000) B O $2,000
EOH $1.000 O $1,500
HOHE $1.200|185O%& $1,000
BOE $100,000[F O $500
HBO2k $10,000[F= O $200
O $10,000{E= O $200
HOE $1,000| 5 O%#, $500
EOTE $600| BB OFT $300
OB $600|ZL OB $100,000
PROE $600|FOHE $57,500
= O% $600[FEOTR $10,000
FEORL $8.000| PO & $300
= OB E O $50,000|E=O& $2,000
ROt $2,000{AROHF $3,000
g O[5 $1,200| FOEE $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] 2 b
sTOACH $10,000|&F O BRI 52 $600
O $1,200{HBOE $1,000
RO $1.200[F=O= $2,000
=0 $1.000[E O£ $1,000
= O $1.200| EOREHL $1,000
OB $2,000|1 Oz $500
PO $500[ kO $500
PROFIGD $10,000| O % $500
RO H 35 $10,000{E=O#E $1,000
O $5,000[FO= $200
e O $1,200) B OF5 $200
e O $2,000) BE Ot $200
O $20,000 OB $1,200
O $20.,000| & O Ja $200
RO $2,000[5O= $100
= O $1.000[FEOELH $10,000
B ORE $1,200|FPOFE $5.000
#FOE $500|FHO8x $1,000
TOKE $500[B1O%x $100
T O $500[ 2 O% $100
FORE $500[m= O $300
SO $100,000 |4 1 E& 52 Fir $1,000
SO $1,000[ = EkE S $2,000
sTO4 $500[ =0 %+ $300
HOE $1.200[EFON $1,000
FHOTk $1,200[FR O $10,000
PROF 5 $1.000[FR O3 $10,000
FEOX $500|EOF $3,000
FOR $500[H O $100
FHOIR $1.000[EO5 | $100,000
HOLC $10,000[F=O5 $5.015
BHOXE $1.200 ek OBt $300
BO% $10,000[FO%F $200
O $1.,200| £OF 1 $200
BOER $5.0001 50 B $10,000
=0T $5.000{ 5O $600
HOZ $6,000|&FOEE $100
ZFOMF $2,000{ FOL $100
ZO@0 $4,000{ O $100
HOFHE $5,000|= O $500
BROE $1,200) ¥ OFH $800
MOH $10,000/#O2 $1,000
=H0.E $1,500)FO%& $300
= ORK $1.500[ RO $1,000
FEOFE $10,000{Z£O# $500
HOZ $1.200550% $500
#ROMH $2,000) 75 O%#, $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
ROZREHD $200|E= O $500
i OFZ $600[FH O $1.000
Tk $1,000]50%% $250,000
SO $1,000)# O $200
ZFORM $1,000[FHOH5= $200
FO=E $1,000| EOFk $200
Z O $1,000[#FHOFF $200
Z0Oia $1.000|F#HOH $200
ZF Ot $1,000)# OF $200
F O $1,000[EO2%k $250,000
MO $1.000)8k O $200
£ OH $1,000[FHOE $500
HOK $1,000)&£O $200
BHOH $10,000) kO $200
sTOM $2,000{5:O%0 $200
ZFOZE $1,000|&£ O $200
PO $400] &£ O 7% $200
BOSF $1,000) &k Ol $200
FOF8 $1,200) &£ O3 $200
RO $10,000] OB $500
HOE $1,200[FEEOH ) $500
FOtT $1,000{ O $500
RO $1.000{ 52O $100
O $1,000|ZFOxE $100
e OBk $500[HOB $200
O $200[2£OF5 $500
=0% T $3.000|Z£OAIFE $100
A Ol $3.000{ =0+ $100
FOWH $100[2£OH $100
HEOER $10,000|ZZOJN $100
o $6.000[Z£O B $100
HOE $6.000[Z1O= $100
BO% $3,000| =% $500
tROTE $3.000|BROFEZ $500
BOHE $3.000[fZO A $300
O $3,000) B O $100
O $3,000) B O $500
MO $600[=OZ= $100
BROH $600| =05+ $100
O $800[FOE $1.000
BEO $800[EFONE $1,000
ZFOM $5.000)5=01G $100
O $5.000[t50O & $12,000
B OE 0k $2,000)f O == $500
RS $14,562(FRO %k $500
BOH $300| O $100
BOE $70,000| 6O E $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 ERSEE 5 ERE&HE
BOHE $800,000580O%& $200
=O% $2,000[&O%E $200
BOE $100,000| 2O $200
BEOE $600|EOE $200
FFOH $100|tR O $200
=0O%F $7,000[FEO 1K $6,000
BO#E $100,000{#50O%% $3,000
2O18 $50,000| 8 O%5 $100
2XOHH $50,000(ZE O%& $100
BOHE $10,0001:8OE & $100
EROBH $50,000|1#O#E $100
FEOH $50,000[FROf $100
IBOBREE $1,000|5RO=F $100
EOFH $1,000|ZE O $100
FOH $2,000[57RO% $100
HOZ $100[5RO%5 $100
ZFOL $9,000|58O B $100
ZO&E $6,000[EF O $100
POF & $600[5EOJIR $100
HOZ $8,000(EFO2& $100
PROME $1,000[5R O $100
BOA $10,000[#£ O $100
=OF $1,000[ RO %= $100
O (D) $2,000[5FEOFK $100
HORE $1,000|ZEO= $100
EOES $1,000[5FEOZE $100
FOE $10,000[5E O $100
FEOE $30,000[#£ O $100
EHOME $5,000| 21O $100
=HOFH $1,000|ZEORE $500
EOER $1,000[FO1= $500
HOH $1,000|5FO%% $1,000
HOE $1,000[5EOFS $5,000
Oz $1,000|%207% $515
MO $1,000{ O $10,000
BEORE $1,000( Ok $10,000
= Ot $1,000| 21O $10,000
BOFE $500(210O &£ $10,000
= Ol $1,000(HOFEE $5,000
w02 $2,000|HOL $5,000
MOZEH $10,000|HOH $5,000
HO=E $100,000[;& OAifi $5,000
RO% $1,000{H O $5,000
FOE $100,000{H O%& $5,000
HOBR $5,000[25O%% $5,000
O $100,000{Z£O¥L $5,000
= ORE $10,000[BFEOFI $5,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 RS i EREEE
i O%E $2,000| HO$E $5,000
#O $100,000| B O %4k $5,000
EOZE $300[FROH $5,000
HO $300[BHO $1,000
BOL $300|HOF $1,500
HOZE $300[ FE O $1,000
EOJT $300[=O%F $1,000
BO% $300[ &= Ot $200
—0O%+ $100|2O% $500
RO $300| K OHF $300
HEOFE $500[FKOJE $300
EOHE $2,000|#ROFE $200
Z0OFH $500{&=0O $1,100
FHOMK $250[ZOFE $700
#HOH $2,000 OB $600
BHROBH $300TORK $600
HOR $300[BHOER $500
PR O $1,000[250 /2 $600
ROHF $200[7ROE $200
FBOREELR $250[TEO%k $100
BROZE $500|1ZEO % $100
HOE $2,000|#RO4F $5,700
O $500[ZF Otk $10,000
£OH $1,000{5EO£:1% $6,000
FO®E $100|FEOTT $1,000
ZO1E $100[BHONK $1,000
BROME $100[FHO# $100
RBO¥H $100|EOTS $100
E O $100[FRO % $1,000
BXO%5 $100| = Oz $10,000
=054 $100| = OF $10,000
BOWE $100[BR O $10,000
RO $100|ZEOM $5,000
BOR $100[FEOZE $3,000
HOE $2,000|EFO% $1,000
#H O $100|ZEOK $1,000
#HOX $100|#EOK, $50
BOE $100| HOZE $100
BOE $100| 5= O%fe $155
BOIE $100[/HOE $1,500
BOIE $100| EFHE T ey $1,000
BOEE $100|&R OFE $5,000
BOEE $100[FROZE $2,000
OB $100)FEO A4k $1,000
OB $100|EEOE $200
ZO% $100|21OF $100
#OH $100|ZO#z $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

L8 PR 215 B EE
aHO5 $100[MOFF1E $200
HOEH $100[#50O 4 $200
HOEH $100OZk $200
EROHE $100 O $200
EROHE $100[ A OF R $200
HFOT $1000EOH $200
OB $100[HOFEE $200
2O $100| F O $200
sROMH $100 O % $200
ZIOF § $10,000[#:0 2 $200
=ORE $3,000|FROEEE $200
BEO% $100OF $200
MOE $1,200[Z O $1,000
O $2,000[F O1& $300
BRO% $500[BF O $600
HOE $4,000[5 O3 $1,000
BOL $5,000{E O[F] $200
=0 $2,000[FO44= $200
RO $500 | O%k $200
KOBL $1,000[E O $200
BEO B $1,200[E O $200
BRO R $1,000[EE O $200
sROBE $1,000[E3 O£ $200
MHOE $1,000({BEO B $200
BOZF $200| s OF5 Bk $200
#®OH $1.200[38O=% $200
KOF $300| 2O $300
ZLOE $300[BROW, $200
BEOTE $300[{EFO*~ $1,200
HOR $100[E=OE $200
#OTE $100|E=OFE $200
(@ $100[{E=O%% $200
#OL $100|125O1 $500
#O&F $100[FE O $500
20OH $100[Z[OZ=E $100
HOH $100(210 )& $100
2O $100|ZIOBEHD $100
=0 $100|BIOFE $100
5#O5 $100/210OE $100
=0O%T $2,000[EE Ot $100
2O $2,000{Z1O1% $100
PR Ot $100EHOR4R $500
F O $100[f5OE $1,000
RO $100|1 RO $1,000
#OX $5,000[#RO 4 $350
EROIE $5,000[:OBP $1,000
Ok $100[ZFOE $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 RS i EREEE
fa OB $100[BIOFF $2,000
O $1,000| £ $100
EO $3,600| EO# $100
MO $1,200| EOH $100
Ve O $1,200[EEO $100
FEOUL $1,200[EBEOE $100
BO¥ $2,000[O $600
HO% $1,200|ZEOR $1,200
KOZE $500[{a7 OB, $500
B O (&0 $500[ RO $300
BROFEFE $500|FEO=F $1,000
BRO(= $300| = OBk $500
sEOE $10,000|FFOJ& $2,000
HOE $6,000|EFOF 1 $10,000
Al O $10,000{#£ O $10,000
O $10,000|EHOZ $16,000
BROE $10,000{ 5 OF% $5,000
BRORY $10,000{ 5 O% $5,000
A OZ $10,000| =0 %+ $1,800
i O#EH $10,000[ =0 %+ $1,700
A OZE $10,000|50O%Y $5,000
A OB $10,000|E=Of& $2,000
BOBEE $4,000{ & O $4,000
NOI= $600[FH O 4 $100
FEOM $600[FHOF $100
H£OE $600(fF O3k $100
#HO% $600);& Ol $100
FOB $600);FOFF $100
O $1,200 O & $1,200
TORE $400({BFO&F $500
T OmGEE) $400[EOFL $100
TOF $400 L ORE $1,000
TOFF $400[ OB $100
TOE $400| = O $2,000
BROTT $100FOH $100
BROSR $100| = O%t $500
BROE $100[H O $1,000
HEOM $100[ EOREHE $1,000
OB $1,000| O $500
E ORI $1,200{#k O $500
EOR $100|BEE OBk $100
—0O%+ $300| = O $1,000
B O£ $1,200(25O 5 $200
HORE $1,200| RO $200
=0 $1,200[FOJI $1,000
MOKE $5,000[FLO=E $3,000
2O $1,000|Z2O%E $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FEOZE $1.000(HOE $10,000
ZFOK $1,000{ZIOFa & $10,000
ZFOJL $1,000) 52O $600
#®OH $1,000| = OHF $1,000
FOH $1,000{HOFAE $100
£0O% $1,000|ZL O $100
FOF $1,000|1ZOt& $100
BRO $1,000|EFO%E $100
Ol $1,000|EBOf= $100
FOHE $1,000|EL O $100
O $10,000|122OH $100
g Ofifa $1.200[{EOF $100
BRO— $1,000|E=OF $100
HOMH $100[z=OF $100
#EO1H $100[m= O $100
HOZ, $100[#AORk $100
#®OE $100ta O $100
RO¥ $100[ZEO = $100
S ON $100[Z£OlE $100
MO $100[Z£O0= $100
EOH $100|ZFOE2 $100
EOR $100[ZFOE. $100
EOLE $100[ PO $100
EO%H $100[2£O% $100
FOFE $200[tFOF $100
\O): | $500[ ROt $100
ZO®E $500[#FO17 $100
FO% $100[f7O H $100
RO $5,000[#Of& $100
1 OF; $10,000# Ot $100
=OS $2,000)1220= $100
FROH $100[#FO%& $100
FOH $100[ZEO % $100
EHOM $100[Z£OFE $100
=OZE $100|#O4= $100
wOfE $100[FOZK $100
O] $100|EECO $100
AEOE $250[E O $100
HOIR $100[EEOZEE $100
BOEGER $500[FR OF% $100
#FOZE $100[FR O $100
=05 $100|B O3k $100
E=OH $10,000[BROE $100
AEOZE $250[fR O 52 $100
EAOLEES $100[EEOE $100
ZOR $100[EEOFZ $100
PROIE $100[ZEO B $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
fiti OF $100[t O $100
BORE $10,000|1#%0OF $100
BROE $150[# O $100
£04 $200[t5 O $100
H O $1.000|18OF $100
ZFOHE $250|5& O $100
RO $100[52O%E $100
iTOTF $100[BROE $100
RO $300[ROF $100
ROSHE $300[ERO=L $100
RO $500 R Ok $100
BROME $500/f OF5 $100
BROZE $100|BLOH $100
EOTE $100[HO%% $100
sHOH $100[fROF= $100
= O D $200|5FOF5 $600
BOEGER $10,000{E=O#% $500
HOIK $1,000[FEO 5 $1,000
HOHE $100[FRO B $1,000
BROZ $100[FROIE $1,000
AEO8% $500[R OLL $1,000
RO® $250PRERHA $100
RO#E $250 LB 5 $100
H=O $250 T $100
ROZEE $100|FREEE $100
MO $100| 2 $1,200
E=OX $100|{nf Fis $1,200
BOH $100| At/ D $1,200
OB $100| {5+ $1,200
O $1,000 s {EEAE $1,200
ZO2H $10,000[ TA 3 $500
FOFE $3.000| 4 %6 $400
BIOF $1.800) 2K $400
RO $1,000 | B % R $400
BOH $10,000|&ENEE $400
HOLE $100| &7 £x $400
HOFE $1,200|5RZEER $400
BIOF] $600 | {& $400
#HOJI $1,200 |7 5E $400
FOI $1.200|F¥EZ $400
BROH $200|# & $400
BRORL $200| £ 5 At $400
RO $600[E=OJF $100
BROH $1,200[= O $100
TOHk $150[m= O $100
BROZE $150[=O $100
BROZ $150[m=O% $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BROH $250[F O $100
BROFH $200[FROE $100
RO $200[=OFH $100
FOH $200[= O $100
BOB $200[=O1E $100
AEOFES $250[EFOfE $1,000
i OIE $100[5TOE $500
fitt O>L $100[ET OFiri & $3,000
LO= $100[5TO= $500
O $100)7T=Ek $10,000
g O $100{ O $500
O $100|HEOR, $100
2OZ $100[#O 5 $2,000
HEOZ $100|7EO%R $2,000
PROZ $100[FH:OHF $1,000
e O $100|ZF O $250
SO $300[5OJT $250
HOEE $300[7ROH $250
s Offi $100[F Ok $250
sTOf2 $100[ EOFHs $500
BOT- $100 O $500
EHOH $100[BEOH $300
sHO# $100[fAI O PR $500
BROEK $100[BBO- $5,000
RO $100[7R OB $1,000
PBROB $100|HOL= $50,000
@) $100)TO $50,000
BROH $100| EOFEE $200
BROME $100[EEOE $5,000
BROE $100|2OA $100
FROZ $100[E OB $100
BROE $100[52 O $100
BROHH $100[21 O $1,000
BROLT $100[EEOE $5,000
FEOEED $600|FEO $2,000
RKOT- $2,000|5 O $2,000
O $3,000[AEO 1 $1,000
O $200[#IO $200
BHOES $2,000) B O $10,000
HROZE $1,0001 % OHA $1,200
sTORL $100|s O=F $1,200
PROZE $100|BO=E $10,000
2O $100[EX O % $1,200
BROZ $100#FOFES $1,200
PO $100|2IOEZ= $1,200
O $200| sl O $1,200
=HOE $1.000|FH O $1,200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
= ORF $1.000[Z1O% $1,200
BOZE $1,000{52 O $1,200
FEOT $200[EFO#h $2,000
HOEF $200[/BEOH $1,000
TO# $500] &= OHABE $10,000
TO&E $100| EOE $300
FOMH $1,000) 2 Of $300
EOF $1,000[#5O%% $200
HOE $1.000#:OHF $200
HOE $1.000|F O $400
SEORF $200| RO ZEE $500
RO $600fR O 5 $10,000
O $100[HEOFBH $500
w08 $100|HOH $1,500
2104 $500[HOF $10,000
£0U1E $100[2IO&f52 $10,000
BEO% $1,000|¥ Oz $20,000
RO $125|#HOF5 5 $1,200
tROfE $125|F0¥ $1,200
RO $125| 0 $1,200
BOE $125|6O4 $1,200
BROZE $200 | fa] O $1,200
EOT $4,000| = OFE $1,200
ROFHE $1,000[FR O $1,200
BROTE $1.800[FHOF5 $1,200
HOBR $100[EEOH $1,200
HOH $100[#EO $1,200
JO $200[2£O 5% $1,200
£0H $100[ & OPayEk $1,200
£ZOJN $100[ZF O $1,200
ZOR $100) g O $1,200
BO== $100[iFOE $1,200
O $2,000) 8 Opk $1,200
HOE $100)75+82 £2350 $5,300
FEORM $100[7ROH $1,200
HEOH $100|MOE $10,000
ROE $100[E O $300
5RO $100| TOf= $600
RO $100[FROFIL $200
RO $100[FROFIL $300
ROEE $100[F O $400
RO $100[H OB $200
HO= $100|¥ECO%& $10,000
O, $100] T O $600
EO= $100|7EOH $1,200
EHOBE $100[5OfE $1,200
s OFx $2001 OBl $20,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FOHAF $2,000|EO%E $10,000
HEORE $1,000|FH O%i $2,400
PO $100[22 O $1,000
HOE $300[ O $100,000
=0 $500| =0 $1,200
O $500|E=OF5 5% $1,000
sTOE $100|E=0OE $1,000
fZOA $300[ O $1.000
EOH: $100[#HO=2 $1,000
GO $500[#RO%E $1,000
g O& $200[#FOF $1,000
PROTE $100[#OES $2,000
#HO $1.000 [ O fif $10,000
=0% T $20|EAO#S $2,000
EORK $100|BROEKY $600
FOE $300|#ERONE $10,000
FEOH $300[ifi OF5 $1.000
O $200|F O $300
FO% $100[#FOE) $20,000
§TO T $100[ O $200
FEORR $100[=O%+ $800
FOE $100| % O& $10,000
RO $100[BEOH $200
EO= $100|OH $200
=0% T $100[= Ol $200
FOZE $500|E= O $200
A OPk $500|E= O $200
(hOZ= $500) &5 Ol $200
SO $500[Z£O% $200
OB $400[2£O $300
HOME $4.200|1 O % $300
MHOE $200[t5O %% $100
it O $500[t%OFH $300
RO $300[#OFH $100
FEOSL $400[t5OFH $300
FEOWS $300[#OF $100
BOHGED $50,000)22 Ok $300
2O $300[2£ Ok $100
B OFifi $500[EOF $500
s Ofi $5,000|#H O $1,000
BOE $12,000|Er O $1,000
BHOZE $100[EROM $200
s O $200| RO $300
s O $200[ RO $200
RO $200[FROFE $300
s ORE $200[EF O A% $1.000
MOH $200[7EO Je $1,200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 ERSEE 5 BB
PR O] $200(21O $200
PROZ $200|fHOJH $10,000
BEOIE $200| = O $10,000
RO S $200[5R O~ $10,000
PR O4E $200[= O & $2,000
=HORE $200): O 4] $10,000
22Ol $200|FROEF B $600
FOL $100| 2Ot $500
EOlE $200( & Off $1,000
SORE $200|1 RO I $1,000
BXOF $200| E O $2,000
FEOR $500( = O $1,200
Oz $100[&£ O $1,200
BEOZE $200[ &= O#k $500
SO $1,000|FE O $300
EOH $2,000|FEO $300
EOH $2,000|Z1OFF $1,200
EO# $2,000|FE OAL $100
B O $2,000);HO=C $600
LOH $10,000[fE=F $1,000,000
#HOHE $1,500{z=0O+ $2,000
ZFOIE $10,000[£OE $400
Oz $500{ T Ol $1,200
T LOE $500| T OfinG&Es) $1,200
O $1,500| T OF: $1,200
= O $500{ T O&F $1,200
FIOF& $2,000 T OfE $1,200
HHO% $200| = O $1,000
#H O $500|5F O #5 $500
RO $1,000[#x OBl $500
POz $1,000|FHO— $1,200
PR O $1,000[FHOBE2 $1,200
FOH $10,0001HOH $1,200
FFO%F $500{EOH $1,200
FFORERR $500)5E Ot $1,200
RO $40,000[5ROZ¢ $1,200
FOE $6,000|=0O=E $1,200
RO $10,000| 7= OFE $1,200
ROR $5,000[f O $1,200
O $1,500[&RO EERIZE $600
BO& $10,000|FHO4H $1,500
iGI@L) $500[E= O $100
BRO%E $200[ = O E $100
PO $200[= O $100
HOE $500[FEO & $100
HOkE $3,000| = O $100
FHOF $2,000[#8O % $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
SO $2,000|#8 O $100
FEOTT $2,000|#8 OF5HL $100
O $2,000)#8 OHd $100
FOZ $2,000) = O $200
BROZF $200|EO K= $1,000
JBOE $200[ &£ O $200
ROZE $200[=OL $200
AROTH $200[#EOE $100
AO& $200| 8 OB $1,000
RO $200[2O%x $100
1{@)5: $100,000|BE O $1,000
=2OFHE $1.200{5OFE $1,000
B OFAL $1,200| O3 $5.000
PROREH $1.200{ 5 ORF $1,000
=HORE $1.200[ZF O $1,000
ROZE $1,200| %2 O $1,000
ROH $400|%2OH $1,000
PROKEL $10,000|ZF O % $1,000
PROBHER $5.000[z=0O= $1,000
BROA $1,000)EOEFf $1,000
FOXH $10,000[HOZ= $2,000
BOEH $10,000|E=O%k $1,500
FO%E $1,000|F O $300
HOE $1,000) 7= B SEA PR/ E] $1,000
£0% $100[=OF $5.015
RO $4.000[EHOF& $15,000
HOZ $5.000) O $500
BO% $100[O=E $300
BO#H $100[ & OB $100
BO# $100[EOE $100
£Z0Om $100[EROIE $100
B O $10,000| i O $100
BIO#E $10,000[#£O4L $1,200
ZOH $100[BROF $150
#HOZ $100/2£0O4 $100
HORE $500[FHOZE $1,000
£ZOH $2,000|F O $250
FOZ $100[5OE $1,200
PO $300[ETOF $100
0O $300[7RO $300
EO&F $400|5=OEH $300
RO $6,000) 5 Ot $300
ZIOUx $6,000) O $1,000
ZOR $2,000[z=0 $10,000
FOH $20,000|f OZ $1,200
HROE $3.000) B O $500
@) $500]F O %k $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | HRREER
2208 $500[FROZE $100
FOFE $20,000E O $100
ETOFE $10,000[FHOTE $100
SO $300] &= O (0 $200
FHOR $1,200[FEO~F $500
FHOR $10,000{FOHE $5,000
FHOJT $1,200|EO& $100
FAOmER $300[FRO= $100
HOJE $300)HEOF $200
BROEETR $600[7ROFE $200
w=OZ $500[5RO#E $300
PROE! $2.000[5&O $200
REGE TR $1,000[5R OEEE $1,100
WA N EIE T R B A $3,000) POt $100
HE iR $10,000|5= O $100
T e $1,000{ZIO $100
T EETE $1,000) &= O¥E $100
BEHC $2,000|EBOF $1,000
SEIFEM $2,000) B O $100
O $200[FR OB $100
HOZE $200[ EOHk $150
BROEETE $200[FRO%E $150
HOFE $200[BROZ $150
s O $200 R Ot $250
BROB $200|f O $100
BROFHE $200[BR O $100
O $200[52 O $100
BROZH $1,200|15O%L $100
FOE $1.200)EOF2 $500
FEOE $100[HEOTE $100
O $100[HEOL $100
O $100[s0O= $100
HOTE $500[5BO %) $100
= ORAL $1,200( % O $100
£0IE $1,200) % Of $100
PROHE $1,200|8 OF $100
BEOHE $10,000F=O %% $100
KROEE $500[FROF $100
BOZ $10,000| 5 O$#, $100
O $10,000[EPO fie $300
RO¥ $5.000|EFO % $300
HOR $500[ET O $100
HOBH $10,000[FFOfZ $100
HOE $10,000|# O+~ $100
RO $5.000[EH O $100
EOZ $5.000|EHO$#, $100
BHOR $10,000] R O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BHOR $10,000|f O $100
BHO% $10,000{BRO B $100
I $5.000|EF O $100
TO#HE $100[BROH $100
ESOLS $100[EROf& $100
BIOKE $1,000)|BE O $100
HOE $100[FRO2 $100
FHOF $100[ROE $100
EOH $100|fR Ot $100
O $600 R O4F $100
FOLCER $2,000) 5% O $500
#FOEE $1,000[FEO= ) $600
s OMATE $500[ET OBk $100
BROZE $500[#F O $100
s OFF $500[21Of% $100
w=OJR $500[BROZ $100
s $500[ O $100
MHOFEE $200/#EO= $100
BO4% $200| EOE $300
HOBR $200(Z O $5.000
HOE $200{ O 5 $100
HOER $200|FEOF $100
HOMH $200 [ O%H $100
HOEE $200[=ONE $300
HOE $200 R O $100
#O1E $150 (38 O $250
RO $100[#EOL $250
O[] $200[#EOS $250
HOgE= $200[FROEY $6,000
BROZR $200[7ROF% $200
BIO% $200[FOF $5.000
A0 $200|FOE $250
ZOMm $100|FFOFE $1,500
FOZ $100) = O $10,000
BROE $2,000[E#EOF5 5 $20,000
ROPE $100[&r OB $100
TR OFHE $100[ PO $100
FEOE $100[FFO*E $100
O $100[#E Ot $100
O $100[HROZE $100
FEOLU $1,200|1#rO1g $100
FO $1,200)F Ok $5,000
ROBY $1,200)B8O%8 $100
HOFS $100[ BB $100
=OR $500[F=OB $1,000
+O S1I00|ROFE $1,200
TOE $100[#O $1,200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
TOH $100[FR Ozft $3,000
O $100[#FOF5{F $100
RO $1.200|180O4= $100
O $1,200) 3Ok $100
BOE $1,200)3 O $100
£0E $100[ 2 OiF R $100
TOE $100|3LO%H $100
BROLE $100[FLOFEE $100
RO $1,200{ O $100
=O(E $1,000[ALOE $100
PROZ $1,000 O = $100
FOHAr $1.000[FROFEEE $100
RO $1,000[ 4O $100
HOE $300[=OFE] $100
FOE $1.200|1 P O4g<2 $100
O $1,200[AOfE $100
s O $300[ = O $100
BOFS $300[E O $100
FOMH $100|E O $100
=0% T $400[BROB $100
BEK $1,000[FROF5HE $100
BOB&T $113,059[HEO = $100
50O $1,200 [ FEO S $50,000
GIOES $1,200|1=OF $100
s O $1,200|EO*F $100
PROB $1.500{f= O $100
RO $1.200[5ROEH $1,200
RO $1,200) R O&iFH $1,200
ROR, $1.200FEOZ $300
+O&FH $1,200]50%% $50,000
+OF $1.200/60O 24k $50,000
s O, $2,000{#OH $400,000
PROBE $600[HO % $1,000
TOF $1,100[FEEOHE) $500
ZOH $1,100| = OBEED $10,000
FO% SLIOOIEEOE# $100,000
+OZFE $1,100[#O X $200,000
RO $2,000|7RO= $2,630
O $2,000| PO $300
£00E $500)4EOK $50
ZFORE $5005OH $100
BROH $100[FH O $500
wO¥ $1.000[FOF $1,000
HOH $2,000{ 52O $100
£OH $50[EORE $100
=0% T $1,000|FHO#K $200
FIORK $500122OF $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] 2 b
PO $530[fr O $600
OB $1.000|Z£OAIFE $100
RO $500[2£ O $100
FOBE $1,000|1Z2OJN $100
Oz $2,000[Z50O B $100
BEOR $500[21OF= $100
BOEXE $500|HOZE $1,000
ZOAER $10,000[E OO $10,000
e O $1,000{z=OIE $5,000
BO $3.000[FO & $1,000
EOR $3,000)F O/F $1,000
BROTE $4,000{ = O $500
BROBK $1,000[fZO A $300
B OF $1,200)150O 5 $500
ROR $300,000[EOZ= $100
SO $1.200|=0O%F $100
FOE $1.200({FPOBF $1,015
FOH $1,200|EFOJE $1,000
TO% $10,000[FFOF= $500
TOFE $10,000[F 5O $200
BOH $50,000| 4O $200
BO5| $100,000{ZRO1H $200
BO5| $100,000| KO & $200
O $5.015|ROi $200
#FORBZR $600[/H Ok $1,000
FO& $300[21OF5 $300
O $2,000|E=0O& $1,000
Jit O $200[ZFOfE $500
FOFHEE $200|12E OZ= $1,000
i OFE $1,200 3O I $1,000
RO $1,200)3 OF $1,000
O $500|HO®E $1,000
O $100|HO & $1,000
#FOE $100|HO= $1,000
T O $100[fR OF5 & $200
PHO% $200[= O $200
FOEE $1.200{5:OH $100
BOMR $6.000) 5= O ¥ $100
PROZRZE R $10,000| & O=E $2,000
BROAN $300 | OfF $500
MO $1,000]49O $500
FROIH $1.000[77 O $500
#HFOH $200[t%0O $2,000
PR O $2,000| & Oz $1,400
BOL $200[ & O $1,300
FOH $5.000)H OFE $500
BROSE $10,000|EEOF* $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
O $600[E O % $100
O $1,000|21OH $100
=0%F $1.000[HEOFx $100
PROFEE $3,000|#5 O %% $10,000
it O% $1,200|5FOEY $300
Ok $1,200[# O $1,000
w0 $1,200{ O &AE $1,000
s O $1.200|1#FOE $1,500
HEORL $1.200(# O $100
FO¥E $1.200)5F O $3,000
EOE5 $1,200[FOtF $2,000
BRO & $1,200[fF O $10,000
BIOHk $1.200{fFO%& $10,000
St OF5 % $1,200(PE O $1,200
BOEGER $10,000[EROFE $10,000
RO H & $1.000|AOFF $50,000
s OFF $1,200| 2 OFRE $1,000
s O $2.000|1OFE $1,000
O $900 R OZEHEHD) $200.,000
FEOB $900[BRO $500
FEOTR $900 | O2 $500
FOJ $900[5 O % $20,000
BOME $900)| EO7FE $1,000
FEOH $900|2£OF5 $1,000
S Offi $900|MEOF5 1 $20,000
FEOZ $900| O $100
BRO®E $1.000{2FTER $10,000
ROBL $200[FEOE $200
it O% $1,000)3OF $300
sTOE $1,000|ZE O%k $200
FAOE $100[HEOFH $300
PO $200[BROAK $200
HOHE $1,200)BEOAK $1,000
HOZE $500|F2O = $600
O $10,0001f2O% $600
=0%F $2,000[HEOEE $700
PROFE 5= $500 [ Of $100
PO $1,200(Z=Oligg $100
FOZE $1,200) B O$#, $100
PROF S $5.000)EOfk $500
BROw $5.00012 OF $300
HOE $100,000[ZEO#K $300
O $1,00012 O $300
sTOB $1,000) 7RO $300
£0% $100|5=0 & $300
£ZO% $1,000)5ROF $300
O $100[=0O#E $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 ERSEE 5 BB
BOZ= $100|=OF $200
ZOBE $100|EO& $200
FOHHE $100|EF O $200
FO4t $100|1#O%E $200
ZOFk $100[EFO $200
=O# $5,000|1220O5k $700
=05 $5,000|FEOF $700
FEOTY $1,000(BEOZE $200
O $10,000(EEO& $200
EOE $300[5ROE $200
O $500[MROF $300
PR O I $500(#5OFL $200
ZOHI $5,000[#5 O£ $200
PROH $3,000[FEO¢ $200
FOK $2,000{ O $200
FOREAD $1,000| EFO&K $200
HOR $500[ EOJE $200
O $500| EOEED $200
HOXE $2,000| R OEHD $200
ZEO%F $1,300[= O $200
BOfT $10,000[OE $200
TROBE $5,000)4£0 $200
=OKE $1,200{HO $200
O34 $300,000[EHH O $1,000
sROMHE $10,000[= O $500
BOBLF $4,000[Z0OE $10,000
EOL $100|FOE% $2,000
O $100TO%k $5,000
TROF $100( %8 O $2,000
PR O1E $100)LOE $10,000
MO $100[FR O¥H $10,000
RO $1,000(BEOZE $200
PR ORE $100EO% $200
=0O%F $10,000|1#RO = $150,000
Z0 $1,200/EO2 $3,000
FO% $500|BEOZ1E $100
HORE $300| RO HEH $100
PR O3 $2,000(#4O& $100
HOE $300| PR Ol $100
=0O%F $100|= O $100
RO $500| =0 $2,000
SBOE $200| O $500
KO $200|=Ol5 $2,000
AOMH $200(z= O M $1,200
KXO& $200| EOEE $1,000
RO $200[Z=O U $150,000
L OES $100)fHOF = $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
E£OA0 $600|22OE $200
#&O H RS $2,000|1 EO& $200
Er O $3.000| EOREHL $1,000
wORHE $800[H O $500
BOSEE $1.000|#ROE $500
%O $5,0002EOfE $200
BOEGER $500|#OH $100
HOK $200|E= O $1,000
MHOEAE $100H O $1,000
sTOE $1,000{FROE $400
BROF $1,000)2 0O $5,000
O $100[EFOFK $1,000
e O $100[BR Ot $5.000
HOBRL $100[HEAIA PR/ ] $100,000
HOH $100|MROEAE $100
=0 $500| MO AL $100
fZOA $300[#OF $100
PO $1.000{#2OH $1,200
FOZE $500[EO3L $1,200
PO $200[ EOFH $1,200
PO $2,000| O $1,200
=OR $200[BEO=E $1,200
B Ok $100| FOE $1,200
O $100| £ O 4% $1,200
EOFHE $100[ROF $300
O $100[ZEOEE $300
O $100[BRO¥AE $300
FOE $2,400[FR O %k $200
MOZ $200| 22O 0 $100
MHO=EE $200[ZEO =i $100
MOEE $200|22 Ot $100
PO $200|22 Ot $100
ZOH $200[22O= $100
OB $200120OE $100
FOE $200[FOEL $100
FOH $200[FOEL $100
FOF $200[ZF O, $100
FOuk $200[ZF O, $100
£Z0OE, $200[ PO $100
BORE $600[ PO $100
FOfH] $1.200|2£O%H $100
£OFM $100[2£O% $100
£OlE $100[#FOF $100
ZOE $100[#FOF $100
FOEL $100[#E Ot $100
ZOR, $100[ Ot $100
PO $100[#FO17 $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
£ 0% $100[#FO17 $100
MHOE $100[f7O H $100
PO $100[f7O H $100
PHOLT $100[#FOfE $100
FOH $100[#FOfE $100
MOE $100[#FOf& $100
HO1E $100[#FOf& $100
Z0OE $100[Z£O= $100
MHOLE $100|220OE $100
£0% $100[#FO%& $100
£O0WE $100[#FO%& $100
#HO4E $100[ZEO % $100
HOZK $100[ZEO % $100
BEO $100[ZEO: $100
BEOL $100| 2O $100
BEOZEE $100|#O4= $100
PROME $100|#O4= $100
PROLL $100|# O $100
BRO 538 $100[FOZK $100
BROE $100| O $100
BROZE $100| O $100
BHOZE $100[E O $100
BHORZ $100[E O $100
fO® $100[EEOZEE $100
£ZOH $100[EEOZEE $100
BEOW $100[FR O $100
BOE $100|PROLL $100
BOH $100|BRO <3 $100
BOH $100|BR O <3 $100
BOFI $100[fROF $100
O i $100[fROF $100
FOE $100[FROZ2 $100
BROE $100[FROZ2 $100
FOF $100[EEOE $100
SO $500[EEOE $100
e O $3,000|BHOHZ $100
HO#E $500(EEO1Z $100
O $1,200|122 O $100
= Off $1,000|122 O $100
BROJE $500[#%CO8H $100
ZFOME $2,000|1# O $100
O $1,000[#%0OE $100
REGE TR $1.000|#0O $100
BRI $100|45OH $100
fEIH A $100[# O $100
PR AD $100[#5OH $100
BRAESE $100[#5OH $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HOE $100[t5OFH $100
FHOF $100[t5OFH $100
EOH $1005& O $100
SEORF $1005& O $100
2Z0F $500|2O%E $100
PROZEER $500|2O%E $100
BROZR $500[BR O $100
HOEER $1,000|BR O $100
RO $100[2OF $100
EO= $100|%2OF $100
£OkE $1,000)BEO=L $100
O $300[BROSL $100
TOC $100[BROHK $100
FHOBL $1,000) B Ok $100
w0 $200| s OF5 $100
PROEL $200[FROF5 $100
BRO1E $700[#FO%% $100
#FOX $10,000{#AO%% $100
BO% $1.000[z= O $300
FOmER $300[&£ O $100
EO $10,000) &k O $100
RO $1,200{5=O#1 $100
BOHGER) $10,000[&r OZ $100
BIOF $100| &R Oz 9% $100
FRORL $500 &k O $100
§TO $1,000) &£ O $100
iTOF $500[Ek O % $100
FOE $500[FRORE $300
T O $500[HEO= $300
sTORE $500(2£OHH $300
EO&F $500[BROF $300
sTOH $500|2£OB% $100
s O $500|Z£OB% $100
BrORK $500[2£O= $100
20 $400|52OF= $100
203 $400| R OFEER $5.000
£ ORI $400|PRERHA $100
MHORE $400|PRERHA $100
ZOH $400 [t LIBH £+ $100
O $400|fELLIBHA $100
=0% T $100|fs Tt $100
[ OF $200 | T $100
O $1.200[PREREE $100
O $1,200|PFAEE $100
H OFZ $600[HRO% $1,000
s OBk $500/ZFO%k $10,000
FO% $2,500[#R O $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
EOH $2,500{#k O $2,000
HEOH $1,000)E O $500
RO $500|EO%x $1,000
#O $500|ZF O $1,000
FROXE $500[FR O1& $600
O $1,000|EO%E $300
BIOFEH $100[H£O $900
RO $100[E8OTT $600
BIOEED $100[# Ok $600
B0k $100[FR O $100
2108 $100|# O $1,100
FEOM $100[%0O & $12,450
BIOHE $100| E Ol $500
FEORE $100[=OFd $300
fit OB $600|FLOKE $600
fit OB $5.000| Pk O $1,000
s OIIE $600[ZFOE. $200
FEOM% $1.000 O <7 $1,000
ORI T $430[#HOJF $1,100
TR ERE $10,000{ Ok $100
HOFR $100[BEOHF $5.000
HEOZ $500 B O $1,000
FFOZ $100[#7O% $10,000
BEOEHED $60,000{#7 Ok $1,000
HO $300[5OZE $800
HOMR $100[FOH $300
#Ola $100[FFORE $400
O $100|2£O%E $400
ZOLE $100| EPR1ESF $50,000
O $100TF5F $500.,000
£ZOH $100EEEST $50,000
HOE $100[FR O $600
s O $100[BRO 2. $600
s OF $100[FROEE $600
wHOH $100/2£0 $600
BROZ 4k $10,000/F8O $1,200
BHOHE $100[7R OB $600
BOIE $100[5OF $600
BOEE $100[#%0O%& $600
BOBE $100[#F O $600
FO% $100|ZFOAE $1,200
#®OH $100|EFO%F $1,200
HOEHE $100[#7 O $1,200
FROM $100|FEHi =7 $100,000
§TO T $100[FH O $100
FORR $100[fROF5 $100
2O $100[BR O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
RO $100[7EOM $100
RO $900[;EOTT- $100
HBO2k $500[ = O $200
BHOZE $100[{E=OFE $200
BHOZ $300|FE O $200
POk $100[#FORd $100
PO F $100[;EO T3 $100
HOE $500[ER OBk $100
HOWs $500[22 O $1,000
BROH $500[t5O%% $100
HEOTE $500[t%OFH $100
HFOE $500[#OF $100
OB $500[ZEOHk $100
=OJR $100|EO%k $10,000
s OE $100|2£O%E $1,000
s O $100[2£0 ¢ $1,000
=00 $100[ARO $1,800
w O $100[FROZE $600
RO $100[7k O $600
PROZ $100|E=0O+ $3,000
s O $100[=OXE $3,000
=016 $100)3= O $20,000
=018 $100/F O $1,200
BRO5R $5,000{F=O% $3,000
TOE $5.000 O $600
EEORH $1,000){E=OH $3,000
BROAE $600[;EO & $1,000
O $200[FEOF $680
Z O, $10,000[FFOF= $300
OB $3.000[KOZEE $500
OB, $20,000| PR OF5 57 $100
BEOIE $10,000/E O $1,000
oS $10,00017L O $150
RO $10,000)7 O $150
FHO=E $10,000)7 O $200
BLOBE $100 = ehas $2,000
O $5.000|E=OJF $100
A Ok% $300| = O $100
A O $300[ = O $100
A Ot $600[=O $100
HOTy $1.200[=O# $100
=0 $10,000| 21O $100
i OF] $1.200)B O $100
s OBk $1.200[z=0O# $100
w16 $300[=OMH $100
FON $300[=O1E $100
ZF Ot $1.200[z=0OFLEA $8,400




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
FORIED) $100,000) O $300
ZFOMGED $900,000(5O %% $200
FOmH# $1,000,000|EFOHE $200
2O $1,000) % O H #k $200
HOBH $500[3 O $400
ORI T $2.400| 5= OX& $400
DthEE $2,000) & OFL $400
#ROHL $200[ 7R OB $400
BROZH $3,000) RO $200
£0U1E $100[ & Oth $200
£0H $100[ & OmX $200
ZOM $100[Z£O 5% $200
£Z0B $100[ & OM $200
BIO== $100[ 2 OF $200
tROZE $600| % OFF $200
FROAL $600| % O $200
HOE $600[=0 $200
HO& $600[t O $200
tROHi $600|#H O $200
RO $600[#H OB $200
AOE $600[t7 O $200
HOME $1,000FEO= $200
ZEOM $1,200|&£O1E $5,000
FH O $1,200) O $500
FOTR $1,200[#FH O $300
EOERE $1,200| =05+ $2,000
FHOREIE $1.200| =0O%H+F $5.000
FOE] $1.200|50O& $3,000
PROZE $200[;EO AL $10,000
RO $100|5 OB EH $100
MO $100[5OLER $100
FAOH $600[7ROFE $100
HOfh $600[5=0O B &K $100
FAO%% $600[ OB EFK $100
AOE $600|E=OK $100
RO $500[iROHER $50
BO $1,000|5R O &5 $50
BO& $59,000|FROFEEZ $100
BROW $50[EROF $300
20 $200[}OF $300
BEOE $11,600] & OBH $100
HORH $2,000|8OE $100
O $10,000|BEROTE $100
HOE $50 [t OF $100
WO $1,200{FROF $150
SFORY $200/2£0O4 $200
FOFZ $10,000[HOZ $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FOSF $10,000[ZF O $250
HOJE $600[ETOTF $100
=OE $1,000)5£O% $300
Ol $1,000[5R O F $300
BOZ= $1,000) %Ot $300
ROBL $12,000) B O 7 $500
FROM $1,000| P O $500
BRO[E $1,000[FF Oz $100
FORE $1,000[EOTE $100
T OHE $1,000[EHOH $100
S ORE $1,000{ 5= QA () $200
O $2,000)$8 O &%k $1,000
RO $1,200)|FOF% $5,000
O $200[E O $100
wO¥ $1.000[EFOF $1,000
TORKE $300 O $200
FEOH $300[7ROF $200
BO% $200[5R O $300
BOFE $300|5=0O $200
(hO= $300[5OEEE $1,100
FEOMF $200[#E Ot $100
MHOE $200[=OL $100
#®OEE $100[21OA $100
L O $100|E=ORE $100
TO& $100[EOFH $1,000
O $200[BIOF $100
FEORZ $1.000[ O $200
#HO% $1,000)BR O $200
#H O $1,000[FR OFk $200
BHORL $200[ EOHk $150
HOK $1,000) B O % $150
O $2,000)BE O $150
HOHE $1,200)|BR Ot $250
PO $1,200) B OF $200
FO# $1,200)BE O3 $200
{hO%F $300| 2 OFF $200
FOH $200[t5OAY $200
#FOAE $5.000{ O $300
EOE $5,000{45O B &5 $100
BROZE $1,200) 5= OME $100
BOHE $100[HO=82 $500
JBO%R $100[HEOTE $100
HOE $100[HEOL $100
BOE $200,000{4CO% $100
TOHE $10,000| 68O &) $100
&L Ok $2,000) % Of# $100
HO $100[& OfK $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HO $200/8 O%= $100
TO $600[HOZ% $100
O $300[FROFE $100
HOEF $300[=O#h $100
RO $300[EB O $300
EEORBED $1.200|EF O $300
RO L $10,000[5F O $100
HORKE $1,000[5FOE $100
HOFE $1.000|1#OF $100
2O $1.200[EHO4H $100
O $400[EHO$ $100
O $400[BROFK $100
i O B $200[FROZ $100
i O B $200|f O $100
TOH $600 (BB O $100
FZ O $600[BEO%H $100
BOR $400[ER Ot $100
RO#RER $5.000)BE O $100
RO $600[FRO 2 $100
HOFEE $1,200[FROE $100
BROZ $1,200|BROfiEE $100
=0T $5.000)| B O4F $100
EOE $500[FEO = #D $600
HBO=E $30,000[ZF Ot $1,000
£0O% $1,200)4E O, $1,000
ZOER $1,200| F Off $100
HOF $100[5O%# $1.000
ZOW; $1.200[FFORK $100
sTOE $500[#F Ok $100
BIOF $5.000|121O% $100
£0O% $1,200| B O $100
SEOmEL $1,200| PO $100
EHOF R $1.000[HO% $100
=OE $1.000[EOE $300
MO $1,000);&O $300
MO $1.000[ZIOE $1,000
MOz $1.000)B O $500,000
PORE $1.000[HEOF $100
BOH $1,200|5RO 5% $1.000
O $1,200{&F Of- 252 $2,000
BRO3 $1,200|FO%L $100
ZEOLR $100[BFOFE $100
FAGY/A $20,000|Z£O%F $100
FHOH $100[7kOFE $1,000
#HO%E $100[2£OF $100
SR OHH $100[7OFE $2,000
BOZ= $10,000 O & $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BOZE $10,000)F= O $100
AEONE $500[HO%H $100
HO=E $1.,200) 85O Tt $1,200
BOE $500[EB O $100
#O $200,000[EOfa $100
st OMM $1,000[EFO%E $100
[ OF5 $1,000|EBOf= $100
=OS $1,000|E O $100
FRORL $600|2£ O $100
BROAK $100[EF O $100
s OFx $200[=OF% $100
MOH $400[5=OF $100
HOEE $1.200[= O $100
BROE $600[# O $1,000
BRO $1,000| =05+ $1,000
Ok $500[=ONE $300
O $1.000{ O $300
F O $500[t7O1E $300
RO $100[#5 O£z $300
BROMW $1.100{#5OHE $300
BROZ $1,100|FO% $300
BROBRR $1,100{&6O 5 $300
RO $530|&F O L& $300
A OPk $500[ R Ot $300
FOE $500[FFO T $600
SO $500|FE OB $600
RO $500[22 O $600
it O $750[= O $500
O $750[= O $100
HOE $100] 55 Ol s $100
BROET $100|E=O& $100
ZOligg $100[#EO Je $100
BRO$ $100[ = O $100
sTO4E $115[#OE $100
s O $115[HEOEA $100
MOBER $10,000FOFHL $100
PR O i $1,000[4& O X $100
BROIT $100[fAI O PR $500
BRO& $100[ ROk $200
RO $100 48 O $250
FOM $100[#EOL $250
BEOBH $100[#EO $250
HOH $100[EROW $250
EHOM $100[#1OZ $200
wOZ $100] BR O $1,000
s OfE $100[BEOZ¥ $600
EAO)E] $100[#FOFK $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
{HOE $500 ] O $100
ROH $200[t5O%E $500
£0%= $300[LOE $500
BO% $100[#FHOE $500
BO# $100|Z2 O $500
BO# $100|122O= $600
£0Om $100[52 O $600
HOHfr $500[BRO & $500
ZFORE $500[2IO 2Tk $100
BIOFH $5.000|121OJ= $100
B0k $5,000[ IO ) $100
ZIOE $5,000[21OfF $100
BRO# $500[F1O & $100
O $1.000{FEORF $100
ZO LR $300[2[ O $100
FOfg $200[# Ot $600
Z Ol $300[=OAE $300
HEOTL $1.000{ 52O $300
PROUH $500[HOEE $250
BROPFE $5,000|7ROA§ $200
RO $30[FO# $600
FOE $500|ZF O $5,000
FOE $500[F O $100
BIOH $200[ EO= $100
it O%H $1,200[FR O F5 $100
PROB $1.000[ZFO & $250
RO $1.000|#EO38 $2,000
ROAE $500[=O=E $50
ZOE $500|F O $300
£Z08 $500| = O= $200
£ZO& $500|E=ORE $200
HOLE $1,000) = OFEAL $200
RO $1.000|2O& $100
BEORH $1,000[#EOE $100
RO $1,000| kO3 $200
= OF $1,000]H# OF $200
=O1E $1,000|H# Oh $200
= OFE $1.000|F#H O $200
= O $1.000) & OFLFT $200
O $1,000(HH O $200
PO $1,000{ = O $200
PROZE $10,000{ 52 O#% $100
OB $300[= O $100
ROEE $300[F=O 1 $100
FOK $1.000FEO% $100
B0 $3.000H:O#F $1,000
HOZ $1.200{ZFO% $250




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
EROE={C1Y) $1,200)5=O7C $250
=OF $1.200[7R O $250
HOETE $1,000|FOpk $250
BROKE $3.000[z= O $100
s O $1.200|FHO= $1,000
EO& $1.200|F O $100
BROF $900[FE Ot $200
PO $900[Z O $200
BO%E $5,000|Z2O%H $1,000
EORE $1,200|FEO= $2,000
O fiar $200|5=O L $2,000
£ Ok $600[FH O $2,000
HEOE $2,000[EOH $500
£ZOJH $2,000[H O $1,000
£08 $2,000) & O $6,000
NG| $2,000[ZF O $2,000
s OR] $5.000[FROF5 % $1,000
= OF $5.000[FRO= $1,200
=OE $5.000[ZOPr[FR $10,000
FORED $10,000[FROE $200
BOSE $10,000| = OFF $200
PO $3,000) = OF& $200
FHOXE $5,000] = O $200
wOFE $10,000{Z21O 7 $200
BROS $1.000{ &= OfF $200
Z0 $3,000| 2254l 25 A TR E] $500
PORER, $10,000|52 5 B2 AL 52 A $300
FOREHE $100| EO#= $400
HOR $100[5RO & $2,000
FOX $1,200[E O $2,000
AOH $100| = O $2,000
FOEK $100|2 O $1,000
AOR $100[ OB 5T $2,000
RO $100| O $400
ROE $100|5=OF $2,000
RO $100[fRO=E $1,000
HO%E $100|BEOE $1,000
sTO%E $10,000|BEOEE $500
fTOZ $10,000| EOF $100
FHOR] $10,000|F O $300
MO $10,000| 85O #E $5,000
w=OF $100[BROME $3,000
EO& $100[5TOE $100
FO% $100|1 =0+ $100
BO%E $100)HEOK $5,000
O $100|AROEE $100,000
@) $100]Z2 OB $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
£ ORk $100| 0O $400
BEOT $100| EO#= $400
ZOff $100| EOH $400
BOZE $100| =0 $400
BROE $100|EO K= $1,000
RO $100[BBOfH $500
HOE $1,200) B8Ok $500
MHOE $500[BB O $500
O $100|BF O $500
HOR $500| =OH $400
MHOE $10,000| B8 O$8 $200
RO $400[ 5RO $200
£Z0%/% $400|22O %A $2,000
£ZOH $400[HEOJe $5,000
FOZE $400[FR O $1,500
FH O $400| R OH $1,500
HOFE $400[ £ O $2,000
O $400[21O $10,000
A OFFI] $400[3E O $100
A O $400|E=O%L $1,200
BO% $400| = O $1,200
0= $400[HO % $1,200
HO&E $100|FEOH $20,000
EEOZEAE $1.200)¥OE $10,000
O $500( 21O $800
HEOXL $200[52OF $500
HEOXL $400[ FORETR $10,000
PEEFEAIRAE $30,000|# O $400
ZBBFEAIRAE] $10,000) 57O $500
AEOE $250|FOEE $500
=05 $100[Z O $3,000
AEOZE $250[ 2 O%% $3,000
EAOLEES $100[5= O $500
ZOR $100[FH Ot $500
PROIE $100| EOFH $100
fiti OF $100[=OF $5.015
BROE $150[Er O EERIZ $600
BROZ $2,000|Z£OAIFE $100
£0 $100[EFO#h $2,000
H O $1,000[2£O % $100
ZFOHE $250|Z£OM $100
iTOTF $100|Z20OE $100
RO¥% $300[2IOF= $100
ROSHE $300[=OIIH $500
SOt $600[ RO $400
RO $1.000|18O%t $200
RO $500[ETO%E $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
PR Ok $500|ZF O $1,000
BROZE $100[ =0T $100
EOHE $100[EROBH $300
sHOH $100)#EOK $100
B O] (#0) $200| EOFHHE $200
HOE $100|F O $300
BROZ $100[ 2O $500
AEO8% $500[ = O $200
HROR $250[ZZ O $100
RO#E $250[H Ok $1,000
H=O $250|5 O $400
ROZEE $100|1Z2O# $400
POt $100|22 OB $400
w3 $100[FpOZE $400
BIOH $100[FO# $400
s O $100[sEOF% $400
HOF $1,000|BHO%E $400
HOLE $100 | i O $400
BROF $100[ i O $400
BROE $100[#OF= $400
BOWM $100[20= $400
EBOTE $100[= O] $200
SO $100|2OFA $100
HOZR $100[E O3 $100
BROH $100[52 O $100
BROBY $100|FOH $10,000
FOHE $150|2IO%k $100
ROz $150|BO= $1,000
BROZ $150[/HO]] $1,500
BROH $250[ O % $200
RO $100|E=OFA $10,000
PRO e $100|BRO S REZ $5.000
RO $100[FLOZ $1,000
BOB $100]BRORUEL $1,000
HEOFEH $250| 8 O $50,000
i OTE $100[E O $500
fitt O3L $100|12E O= $1,000
LO= $100[m=O T $500
O $100[ 5O $500
g O $100[##OK $5,000
g OB $100[iE O~ $500
2OZ $100] i O $500
HEOZ $100[2£0OZ $1,000
PROZ $100| BB O $2,000
s O $100)iOH $5,000
EOLE $300[2E£ON $1,000
HOEE $300|2£O% $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
s Offi $100[5 O $300
sTOfE $100[#FOE $10,000
BOT $100[ PO $20,000
EHOH $100[EFO &L $10,000
sHO#E $100/2£0 $100
BROEK $100[2 O $100
RO $100|Z=O% $100
BROBA $100)AE O $100
@) $100[HO= $100
BROH $100[z20O1% $100
BROME $100[HEO#= $100
BROE $100[Z=OFk $100
BROZ $100[FLO*E $100
BROE $100[H£O $100
PR O $100|ZF O $100
BROLT $100[EBOfE $100
RO $1.000{ECO $100
BOE $1,000)F O3 $100
FEOEED $600|F O $100
HO4 $200|F O $100
ETORk $100|2O% $2,000
PROZR $100)%=OMH $50,000
2O $100[ExO4= $10,000
BROZ $100[F1O#h $1,200
MO $100 = ehas $2,000
O $200| HEHEE AR ] $3,000
BEOFF SI00| e 2aE e $800,000
RO&8 $2,000|5F Ot $1,200
FOMH $1,000)5F O $1,200
EOF $1,000{HOF5 1 $100
AHEOE $100[#50O4 $100
O $100[FLOZE $100
AEOH $100[HEOE $100
ROFE $100[ 4 OF R $100
RO $100[HEOH $100
ROZE $100[FLOFEE $100
ROEF $100| EOH $100
=0 $100[FLO*E $100
BOE $100[FEO = $100
EOE $100[BR O $100
tROE $100[HEOF $100
=OH $100[=OFE] $100
=O¥ $100|HROHg~Z $100
PO $100[FR O $100
EOTT $1001 = O $100
FEOEH $300[ == O $100
FEOSL $300[EBOA $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FEOWS $400[EOE $100
ROZR $200[BROBL $100
FOiH $300 | OF5 Bk $100
B Ol $1,200[#HO = $100
BO# $200[FOEE $100
BROBE $100[E=OFE $100
s O $100[{E=O $100
O $100[5FOAK $1,200
PROE $500| =0+ $1,200
EEOHIE $5,000[FR O $200
LO=E $5.000)E Ofif $10,000
HOH $1.200[FHOE $500
HOWH $1.200|# O $500
LR e AR E] $500 % S5 B K N ] $21,000
AN $100[BIOF $100
EEG $100|2IO 2Tk $100
m= $100[FIOfF= $100
BEK $100| 2O HD) $100
HlEZ $100|2IOJF $100
A $100[F1OE $100
TREETR $100[F= O/ $100
i (B8 $100[B[ O $100
T $100[F=O 1 $100
HEE $100[FEOfZ $100
R $100[#O& $500
T $100[FEEOHE ) $10,000
MO $5.000) &= OiffE $1,000
HOEE $10,000|B O%i $2,000
MHOEAE $100[7= OB $2,000
BRO% $600[FEOHH $600
EXO= $1.000FEOZ $600
FR O $600|FE O $600
BXOEAL $1.000[FO/I] $600
EOED | $100|B8 O $600
20l $100|FEOF $600
ZOE $100| 5% O $600
FOEL $100[FEOZ $600
ZOR, $100[7ROH) $1,000
PO $100[FEOK $10,000
£ 0% $100[FEOA0 $10,000
OB $100/2£0O $300
PO $100[2£ O] $300
PHOLT $100[2£OF0 $300
FOH $100[FFORE $300
MO $100|22 O $300
HO1E $100[FFO* $300
Z0OE $1000TO% $5,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HO%E $100[ =0T $37,000
£0% $100[t5O%% $100
£OWE $100[t5OFH $100
O $100[t5OFH $100
HOZK $100|£2 O $100
RO $100[EE O $500
ZOE $100[ T O% $400
O L $100| T O $400
BRORE $100[ T O#F $400
BROLL $100[ T O%E $400
BRO 538 $100[EO1H $400
BROE $100| FE O $400
BROZE $100[#5OFE $300
I OFS $100|21O= $1,200
BHORZ $100[FEEOE ) $100,000
ffO® $100[#OH $1,200
£ZOH $100[FIO& $1,200
BEOW $100[EOHk $600
BHOE $100[#FORd $100
O $100[#O=F $1,000
B OH $100|E=0OF $1,200
BO# $100[H Ok $1,200
O i $100[ELOEE $1,200
ROE $100|ZF Ok $1,200
BROE $100[BROF $500
ROHF $100|E=O % $1,200
BROL $100[ = O $300
BROHL $100|2£ O+t $10,000
BROFT $100[HO $10,000
BPOH $100|BHLLISF FEENEZE A H $100,000
MHO% $100[FEEOEHD $1.500
BROZE $100[#EOE $1,200
RO $1.200) B O/KE $2,500
ROEEAE $600[EZTOF $1,200
BROIT $300[5& O $1,200
=054 $600| 52O $5.000
= OfE $10,000[#5O%E $5,000
BHOZE $5,000[BRO £ $2.500
FOH $500[=OZ= $100
BRI $100[5TO%5 $2,500
tE S $100[5FOFE $2,500
PR TR $100|E=O% $1,200
PGSR $100|E=O%K $1,200
FHOrtE $200[O= $1,200
MO $1,000[#O<F $500
LOH K $1,000|EFOxE $200
FOEE $1,000] O $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FOE $10,000{#£O $500
=OE $2,000{FORE $10,000
ROH $500[BROME $6,000
s O $2,000{BL OJF £ 5% $300
HO&ER $10,020(FROZ $500
HOX $2,000[FROH $2,500
BROE $1,000|BEEOR $2,500
FO#% $600[#£O $10,000
JBO4 $600[BOE $200
@) $500| RO $200
O $2,000| R O1H $200
ROZEE $500[KO& $200
£0E $100[EROH $200
TOE $100[FH OB $14,400
BRO#K $100|¥E O $100,000
TORERD $1.000| kO $200
HOE $500[ZE£ O $1,000
PO $500|2£O% $1,000
MO $300| EO(= $100
HOZ $10,000)BR Ot $10,000
§TO $2,000) % Ot $200
BO# $50,000| O $2,000
O $50,000[BROEE $1,000
B0k $1,200)BEEORK $1,200
OBk $10,000|#FOF& $1,200
F O $3.000[ 2O $1,200
HOTF $100[#£0O $1,200
FOH $5.000) 21O $200
s O $100[B[ O $1,000
EORE $101BRO HEE $600
EOIE $1,000|5F O $600
=O%E $1,000[¥E O $100
RO $10,000| R O $100
TO#HE $100[ZFOHE $10,000
BROFX $1.000[=OfZ $2,000
BROFX $1.000[F=O= $2,000
BROFX $1,000{ FOFE $600
BROAT $10,000| PR OF5 57 $150
FHOM# $3,000|5O H ¥ $300
FROH $5.000|#EOME $1,000
O $100|AOH $1,000
#O $2,000[Ex O $1,000
=0 $20,000{ O EYE $1,000
FOE $5.000] &= O < $5,000
BHO $1,200) i O $42,000
B O 53 $10,000|{FEOFIE $1,000
BRO#% $1,000[FEOF5 5= $500




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] 2 b
BRO$ $1,000| EOREHL $1,000
BRO#% $1.000|1#FOJ= $500
BROER $100[ kO $500
BEORE $100|E=O $1,000
TO&E $100| TO= $500
TO&E $100[ T O $500
FOME $5.000) T O%#, $500
MHOFEE $100[EO¥ $500
BOE $100[H O $1,000
HOTR $100[ZFOE. $300
HOE $100[ZFOl% $300
£ OFR $100|%=OF $300
FHOE $100[FO= $300
HOEE $100|HOE $300
TO% $100[;EOE. $2,000
HO%E $100[#O%a $4,000
HOE $100[E= O%k $1,000
BROEETE $100[ & OFF $400
HOFE $100[%it O FH $1,000
MO $200|550% $1,000
sTOE $100)| O $1,000
fTOE $100[2£OH $1,250
TOM $1,000]BEORK $1,250
=0%F $50[Z£OE $1,250
=0%F $10,000[ZO& $1,250
£ O $100|&LOF $1,200
O[] $100[FOZ $200
O~ $100[5OZ $1,000
BROZR $100) 8 OFF $1,200
A0 $100[ % O $1,200
s O $100[ & O $1,200
ZOMm $100| 8 O $1,200
FOZ $100[BEO(H $1,200
BROB $100[m=OH $200
BROFHE $100[=OM $200
HEOFE $100[m= O#F $200
=0%F $100)1E Ol $1,000
=0%F $100| O $1,200
MHOZ= $500| =OF $100
£ZOH $1,000)E=O7F $333
2208 $1,000|= O $333
FEOE $100[m= O $334
O $100[5TOE $100
O $100)#EOLK $100
+O $100[ZEO ¥ $100
TOE $100[fT O $600
TOH $100[HO* $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
+O-] $100|HO $100
205 $100[HO% L $100
+O=E $100|FE O $1,200
BRO%E $100[FFOH $1,200
EOHE $1,200| O $1,000
BROAL $1,200)iFOR $1,000
#®OHEE $1,200) O $3,000
FOMH $1,200) BE Ok $200
EHOE $1.200[FEO5A $10,000
O $1,200{ O $500
PRO5A $1.200{ 5O $100
1 OFIL $1.200|2£OF $500
BROKE $10,000) B O$1 $250
BEOE $100[)ZO%z $1,000
BEOE $100[ZF O $300
RO $100[=O% $500
RO $100[f2O A $300
O $100[FR O $100
O $100| =05+ $100
HPO&A $100[EROH $300
HPOAA $100[ O $1,000
ZO $10,000|FO% $300
IO $15,000[BROZE $250
O $10,000|BR O $500
HOR $10,000|12205 $200
O/ $10,000[# O $200
HORE $2,000[FOL/NEK) $200
21016 $10,000|2FOf $500
FOK $10,000{F=O & $100
HOHE $3.000{5 Oz $100
#OZEH $10,000|FO2 $5,000
B OFiri $2,000[5F O $300
SO $1,000|EBOFE $2,000
FOE $1.000[ZFO% $2,000
BO&E $10,000|FOE $5,000
TOH $100|FOXE $1,000
#HOT $5.000| kOt $1,000
=O®HE $10,000[#AOTT $3,000
s O $500[Ex OF5 $2,000
Ok $3.000) Pk OAf $500
ZOM $1.200(#R O $10,000
O $10,000)3 O $100
RO $1.200| £OB $1,000
ROE $1.200/ O $10,000
BOE $1,000| O $1,000
FOK $3,000|1#r O $200
PROXE $10,000| 7= B> SEA PR H] $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

Byt PR EHE Gy B2
HOZ $10.000| £ 526 T fhdy $1,000
FBOTE $5,000[ & (f 2P $13,300
=02 $250|5= Ok $100
FOWE §250[ OBk $10,000
ZOt8 $1,000[F O $1,000
HORMZE §600[Z O $1.000
#HO% $600|EEOTE $400
#O% §600( O $1.000
= OPF $600| &2 O3 $100
#O X $600|EOHE $100
= OfE $600[E=O& $100
sF Ot $2,000[F8O & $100
PR OBH $300[#EO & $100
#OAF5 $2,000[$8 OFA $100
FIO& $100[HFEOFH1L $100
RO $200[$8 O $100
PROTE $100[F OB $1,015
BXOF= $200#5O & $100
FFOZ) $500[#A O3 $1,000
Ok $100[HEQ#T $1.000
Ex OB $300|5ROE $1,000
O $6,000|:# O $2,000
BOE $500(BXOE $10,000
PR O $500[FE O $10,000
HROK $1,000[ O $3,000
TR ZEA R A E] $1,000|FR O $10,000
2101 $200[FR OB $5,000
BO $200[O%E $1.000
FOFHEE $200| & ¢ P ESE2 P $100
O $200| 525 BT AL B2 A $700
EOH §500{8OF% $20,000
EOEZE $500[#O%> $10,000
#O% $900[2ZIO $100,000
BOFE $700| EOFEE $500
+O= $700[O# $100
ZFO%E $600[AEOFN $100
FOt8 $1,000{ZOFE $5,000
#OL §200{ZZOf#k $600
FOE $10,000|122O)& $600
HOBFH $500| O $600
RS EE—F $12,500[Z2 O $600
RO $200EOF $1,000
FOomE $2,000[ £ $500
BEOE @) $10,000|1#RO= $500
HZOF $20,000[EFOE $1,000
20 $4,000[3EO % $500
ENeL - $1,000[ £ $500




REFHMEE (EEMR : BEFREAR'ETL)

MEEANSETAIDFEHEENESE

g2t 2 X | Eati] HRREER
FO%E $1.000[FRO#T $100
BRO %t $1,200|2 O $100
FO75 $1,000) B O$#, $100
KOs $2,000|E= O $1,000
RO $1,000{FRO#F $500
EHO#S $1,000[A O $100
FORL $1,000)3OFK $100
OB $1,00012 O $100
PROZREY $100,000[5EO4E $100
HOEL $750|5%=0 = $100
S OJ $750|5=O= $100
FOED $10.000[ =0 $100
TOZ $10,000|&x O &L $100
EXOL $10,000{+O= $100
HO= $5.000[FROF5 $100
POZR $5.000]BEEO &L $10,000
FOW $1.000|1 P OF& $100
BOME $10,000)° T O3 $100
FOr $2.000PTOERA $100
BO#HE $30,000[FFOFEH $300
FEOEE $10,000| O <5 $100
Z0Oia $3.000) PO $100
S LOREER $10,000{FO% $500
BROZ $1,000[ £ O $500
O $5.015|F£O% $500
sTOH $200| O $500
PO $330|FOF $500
ROPE $50| EOF $500
R OiRHE $50| EO1H $500
MHO% $200EfESF $500.,000
BROLL $500| fiABh = S AR E] $10,000
PROEE $500[7=ROHk $1,200
ORI $1.500|FE TSRS (AR H] $250.,000
RO% $10,000|#FO & $1,000
#FO $200[FEEOHk $100.,000
BO3H $1,200)F O H $5,000
it O $2,000[BHO&Y $5,000
BROA $500[E O $250
BOZ) $10,000|#FOF $1,000
FNHLEEPE $500[BROIE $220
BO35] $100,000[ZFOFk $1,200
=0% T $26,000[2LOHE $1,000
RO $100[EF O $100
HOH $100[EO1a $100
g O $5,000|EFO%E $100
JOE, $200|FFO1= $100
FOHE $1,000]Z O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BOZE) $500,000|22 O $100
sTOR $2,000| O $100
HOY $1,000)E=OF $100
BROH $200[5=OF $100
FOfE $600[E= O $100
w0 $200[BRO% $200
OA $100[7ROHE $200
EOH $100[BRO T $500
HORE $100|4=0O & $12,000
FOE $100| EOL $150
FOtE $100[F=OF2 $150
sTOF $100|E=OhK $500
A OFE $700[#AORk $100
HOFH $700 12 O3 $100
i O% $500[FR O I $2,000
sTOZE $500[= O $100
O 1% $600| = O $100
+O=E $100|E= O $100
BROFT $100|E=O= $100
H O $2,000{E= O $100
FO% $3.000) 21Ot $100
s OfR $5.000) B O $100
EOH $2,000) 5 OF]] $100
R LR (E ) $3,000)E=Off $100
Z0H $500[=O1E $100
HORE $200(fR O 5 $20,000
O $100[FOEE $1,000
w0 $100[ &R OB $100
fit O $100[#OE $500
HOFR $100[ EOFHs $500
FHOH $100|EE O $50,000
HOkE $300[HEO $1,000
HEORE $1.000{EOFF $15,000
=0 $500[21ORBkL $1.000
fZOA $300[FIOHE $1,000
=0%F $100|BIOFH= $1,000
BROMW $50[F=O= $500
BRO3= $500[=OHE $2,000
Oz $500[5=O% $200
TLOE $500[3E O $1.000
oOE $200| 5O % $20,000
RO $200)| £ O% $100
AROTH $200|f OFE $1,000
KO& $200[EEOE $5,000
RO $200)4EOK $1.000
MO $50[= O % $250
O B $500[E= OFE $250




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BOE $10,000[F= O it $250
BO#Hk $500[ O $800
BO®&R $500| O FE R $204
Ol $500| =05+ $100
SEORF $200[5& Ol $1,000
RO ER $2,000[ZIOF $1,000
HwOBE $11,000EfESF $1,000,000
£0U01E $100[fEBLAL P FETS $10,000
2014 $100| 52 OFEEHD $10,000
£ZOJN $100[#FOH $300
£Z0B $100[=O% $500
BIO= $100[ 5 OZ¥ $500
O $300 | OBl $20,000
2102 $200 it OfH! $3,000
HEOHE $200|2OF5 $1,000
SOERE $5.000[z=OF5 % $1,000
BO=% $2,100|=0OE $1,000
BOMGERD $500[#HOH $1,000
O $100[#HO=2 $1,000
OB $200[RO%E $1,000
£0% $500[#FOF $1,000
BRO1E $600[ O $2,000
g Oty $500|BHOES $1,000
PROTE $100|BEOF $10,000
HOME $1,000{FEOEE $5.000
RO $500[fifi OF5 $1,000
2O $200[ 2 O $400
BOE $15,050[ =0+ $5.000
#®OEE $100[FZOfE $5.000
L O $100) = O $1,500
TOE $100[EHOH $600
Oz $1.000[EHOZ $900
=OIES $20,000|E= OE $3,000
O $200[= O $600
5O $200[= Ot $600
B A RN E] $1,000|FpOE $600
HOF $100| 5 OHFr (#D $2,400
FOH $100[FOF%z $600
FOFHH $1,200| 21O~k $600
+ O $1,200)BR O $1,200
EOF $900[ RO H $2,000
BOZF $200/ 52O $2,000
#®OZE $1,200{%= 04 $2,000
O $1.200[;E O $500
HOZRNE $1,200|#O1= $10,000
FHOMH $1.200[HO % $500
HO4 $1,200);£O%F $250




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
NOES $1,200( % OHF%E $100
EOW $1.200|8OF $100
RO $100|FRO= $5,000
ZOligg $100[EROIE $100
BRO$ $100(Ji OF $100
ETOHES $500(R OF $150
HOE $100/2£0OH4 $100
FHOIK $100[FHOZE $1.000
AOR $100|F O $250
ROLE $100[FROZ $1,000
RO $100[5TOF $100
RO $100[7RO¥ $300
AOHE $100|7ROEFH $300
AEOH $50,000| 52Ot $300
BOZE W) $500,000{FRO & $500
TOXE $200 | F O %k $500
JTOR $200|f O $100
JTOE $200[/EO1E $100
JOE $200[EHOFT $100
B O $200] &= O (0 $200
10= $200[H O $100
TORE $200/#E O $200
T Ot $200[7ROF $250
TO¥ $200[5R Ok $250
JTOZ $600|5=0O $250
JTOZ $600|5OEEE $1,100
#RORE $1,200) kOt $100
sTOFE $10,000|5= O $100
FOFE $1,200{IO $100
BO£ $1,200) &= O¥E $100
{TOXE $1,200|EROF $1,000
FOEF ] $1,200) RO $100
FHOF $1.200[FROBK $100
PROFAE $10,000{ F=O%k $150
s Ok $1,200) B O % $150
MHO&E $100[BROZ $150
Ei0) $1,200)BR Ot $250
750 $1,200) B OF $100
=0 $1,200] BE O3 $100
O $1,200| 52 OF $100
it ) LA EH T $1,200|15O%EL $100
A mEN TAET $1.200);E O $500
BER $9.000) i O $100
/INPHIEEE $28,150[}thOL $100
AHEOE $250[40 O $100
=05 $150|BO%h $100
PROF $1,000] % O $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
i O $1,000( % O $100
ROSEH $300[ 2 OF $100
BROZR $100[HOZ% $100
B O] (#0) $150[BROFE $100
POt $100[=O#h $100
AEOFEEL $250 (BB O $300
FOZH $100|H O $300
MO $100[ET O $100
AHOE $100[ETOfZ $100
FEORM $100[tO+F- $100
AEOH $100[EHO%E $100
H OFZ $200[EHO$ $100
HOFPHE $200 R OFK $100
T Ok $200[FROZ $100
i OfF $200|f O $100
HOH. $200 BB O $100
H OFH $200[BROH $100
ROZR $200[ER Ot $100
+OE $1,000{FEOF $100
AEOE $250[FROZ $100
EAOLEES $100[ROE $100
2OE $100| RO $100
BROIE $100[BROLT $100
fi O $100| 2O $500
HOE $1,000[FEO= ) $600
BROE $150|HOA $200
£0 $100|MEOEAE $100
ZFOHE $250[5= O $1,000
i OFLE $10,000[5FO kK $100
fTOTF $100[#F O $100
RO¥% $300[FIOf% $100
ZOfg $300[BROZ $100
RO $500[#FOHH $100
BROME $500)#EO= $100
EOHE $100[ EOK $300
sHOH $100[O & $100
Ok $2,000{FE ORI $100
BROZALE $1,000);E O $100
RO $200[=ONE $300
HOHE $100| RO iskHA $250
BROZ $100[#EOL $250
AEO8% $500[#EOS $250
RO $250[ZEO =i $100
RO#E $250|122 Ol $100
RO $250[22O= $100
=OX $100|ZFOE2 $100
BIOH $100[ZFOE. $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
s O $100[ RO $100
HOF $1.000|2£O%H $100
BIOF $100[#FOF $100
FROBL $300[ RO $100
HOE $200[#FO17 $100
RO $3.000)47OH $100
PO $1.200(#ROfE $100
BROH $100[#FOf& $100
BRORL $1001220OE $100
TOHk $150[#FO% $100
PROZE $150[ZEO % $100
BROZ $150[ZEO: $100
RO $250|#O4= $100
BROFH $100[EOZK $100
BROE $100|EECOH $100
FOH $100[E O $100
BOB $100E O T $100
iGN $100[FR Ol $100
fitt O=L $100|BR O <3 $100
LO= $100[fROF $100
O $100[FROZ2 $100
GO $100[EEOE $100
g O/ $100[EEOFZ $100
2OZ $100|22 OB $100
BRO®& $100[tZ O $100
e O $100[#O I $100
SO $300|#5OH $100
HOEE $300[#5OH $100
s Offi $100[#OF $100
sTOfE $1005& O $100
BOT $100|2O%E $100
BHOH $100[BROE $100
sHO $100[2OF $100
BROEX $100[BROSL $100
RO $100FR Ok $100
BRO B $100f OF5 $100
@) $100[BBOH $300
BRO% $100[#FO%% $100
BROTE $100[FRO== $300
BROE $100[5OZ%& $200
BROZ $100[FO & $250
BROE $100[EOH $1,000
BROHH $100|122 OB $100
BRO4F $100[2£O= $100
RO $500[FOff $125
FEOEED $600[ZFO 1 $125
RKOT- $2,000] 5 OFE $125




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
#FOR $100[ZFOF% $125
sTORL $100)HOFk it $1,200
PMOTR $100[BEOL $1,200
2IO& $100| ZesRaR e A IR A E] $500
BROZ $100PRARHA $100
O $200|fELLIBHA $100
BROF $1,000|Ps5=Arb $100
FOMH $1,000[PRAEE $100
T O $1,000{ = Ol $1,000
HO $500| fEM R (b~ $2,000
BOE $1,000)1220%g $1,200
Oz $300[ O $3,333
HO $300[FFOH $3,333
BOX $300[FOMmE $3,334
MO $300[5F Oz $5,000
KOE $300 |58 O 4k $1.000
H#OIT $300|&£O EEREIZ $600
ZOE $300[7 O $1,000
BROE $300[BR O $1,200
BOTR $300[21OfE $300
ROE $100[FI O $300
ROl $100[ZFOZK $300
RO $100[21OZ> $300
ROZE $100[ZF O $300
OB $100[ZFO% $300
RO $100[E= O $200
ROE $100[21OZ $200
HO= $100|E=OhK $500
O, $100[= O] $200
EO= $100[2£0OZ $1,000
=HOBE $100[#AOH $500
BIOHH $300[ & OB $500
HOZE $1,000{ % O, $200
EOM $1,000{% Of% $100
=0O%+ $600| 5B O $500
=0% T $1,000| 2Otk $500
=0% T $1.500| = O $500
EORK $500[HOZ $1,000
SO $600[ET O $1,200
RO $300[25 O $100
BIOHH $300|fs O $100
FOK $3002 O $100
B0 $300[2 O f $100
O $300PHOZE $100
FOE $300|2IOZk $1,500
FEOEH $250[5TOF= $1.000
FEOSL $250[#F Ot $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
FEOWS $250[#F OBk $100
T OB $400[FEOM $100
T OfmG#E) $400[FOF $100
TOHE $400[BBOFF $5.000
T OxF $400[BROA0 $100
TOE $40012 OFE $100
FEOHE $1.000|ZOE $1,000
BROE $500[ZF0 $500
BIOFEH $100[ = O%F $10,000
2OJ= $100|FEO $10,000
BIOEED $100|= O $500
21O $100|AROtEE $1,000
BIOE $100[7LO3He $500
FEOM $100[451O H Jimg $500
2O $100|PEO% $10,000
FORE $100| FO4 $1,500
FOEB $250[ EO3L $600
EAOEEN $10,000| &£ O jzk $2,400
BOF $300[Ex O~ $1,200
sTOBk $1,000|Z£O%k $30,000
HO $1,000|21O=L $12,000
ZO®, $500[F=OZE $5.000
= O $300[ F=OR $1,200
£08 $500[ 2 OF $100
O $1,200) & OHEER $100
CAOES $1.200| ElZEFIH(E G $100,000
OB $1,200| Bl <7 HE & $17,700
EOH $200[5TOH $500
FROH $10,000{ 2O fie $500
20Ok $500[{BBOE% $100
#*O $100[#O 5 $2,000
RO $100|ROINH $1,200
Z=OA $100[EROF53E $1,200
O $100|Z£OF $1,000
FR O $100[BBO3L $100
ER O $100[fEBLAL P FETS $20,000
EROF $100[tO= $1,000
FOR $3,000|#Ot& $150
w=OIE $3,000{ABOE $250
HOH $500[5O= $100
P Offg $500[ 2 O% $100
MOF5 $150| 5 OF7 3k $3,000
StEE $2,000[FEO#R $3.000
LR e AR E] $500[ RO TRk $250
EORK $50|FOFN $100
PROH $2,000[EE O $100
RO $125[25OF $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
ROG $125|2£OF $100
RO $125| FOFtE $200
OB $125|F O $100
O $2,000)OL $500
HOMR $100[2£0O= $500
#Ola $100[EFOR $1,000
O $100/ 5 OF $400
ZOLE $100| FO= $1,000
O $100[#AO 7 $100
£Z0OH $100[m= O $200
HOE $100[t5 O $1,000
s O $100[FROF* $200
s OF $100[EEOE $5,000
=HOH $100[FRO % $2,000
O $1,000{ 5= O $5,000
TORKE $300[=OF $5.015
FEOH $500[HOB $200
BO% $200|2£OAI4E $100
L O $515|EFOF $2,000
FOH $100[2£OH $100
FEOMF $200/Z£OM $100
w1 Ol $500|ZZ0O B $100
POk $100[21OF= $100
FOF $100| =05+ $200
FROH $100| =05+ $5.000
HOH $100[7R O3, $100
EHOM $100[fAI O PR $500
wOZ $100[EROW $150
=OE $100|EO K= $1,000
= Ot $100|=O=E $1,200
#EOA0 $200[#FOEE $150
w1 ORHE $1,600[FRO= $200
HOE $500]F O $200
BROTE $1,200)BRO# $200
BROBE $1.200[E O i $200
SHOF $300[ R OB $100
EOH $500[BO%x $100
BO% $500[= O $100
BEOE $500[ZFOFE $1,000
RO $5,500(#50O H ¥ $34,000
FRORL $300[FR Oz $20,000
2104 $200|FE O $3,000
BO $1.000[/£OF& $3,000
OFHE $1,000) O $3.000
O $1,000) &= O $3,000
s OF $200[E=OL $3,000
=OJE $215|m= O $3,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
O $200[= O $3,000
HOEER $1,000|7=OE $600
TOXE $500[/ROKE $3,000
BEO=S $10,000[FEO= $100
=HOE $600[HEOIL $3,000
EHORE $600[=OFE $1,500
SOF $600[=O®E $1,500
=O% $600|F O $1,500
e O)=| $600[FEO $1,000
BHOZ $600| = O $1,200
EXOfZ $300[ZEOZK $1,200
O $1,000|1220%5 $1,200
2O $1,000) B O Ht $1,200
MO $5.000)&£OF $100
RO $1.000[2£0 $100
#RORE $200[2= O $100
Ok $250|ZO% $100
HOH $250) AL Ot $100
CEeEEtEg $1.00013OE $100
BIESET $630[==0O1F% $100
BIESET $684|FOFE $100
BIESET $5,670|ZO %k $100
=0 $10,000)4ECO =& $100
s O $1.200[3£0 $100
w=OH $1,200)F Ofif $100
BO&E $10,000|EPOfE $100
sTOZ $10,000/ZFO $100
5O $10,000|ZF O $100
A O3k $10,000[ZFO% $100
JLHESE $100|ZF O $100
EEG $100[#EIO VK $1,200
m= $100[=OAI2L $10,000
BEK $100|%= 0% $1,000
HEZ $100[ £ O%E $1,000
A $100[FFORE $1,000
TREETR $100|2£Of $500
i (B8 $100| £ O $100
T $100[EEOE $6,000
HEE $100[HEOZK $3,000
R $100| O $100
T $100[ EOWs $100
=0% T $2,000)H O $500
=0% T $20.000| I HERE I A PR ] $10,000
RO $16,000[5ROF $30,000
FEO= $100[FHOFZE $300
SO $100|#H O 5= $300
w=OR $100| EOZE $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

18 i b B EREHE
=OHE $100[sH OfF $300
=OHE $S100[HOH $300
=01 $100[: OFH $300
=OM $100|B O $200
B0 $100|BEORE $200
BROZ $100| EOFE $100
=OM $100[FFOE $100
=O1E $100O®% $1,200
=018 $100| =0+ $100
HOR $10,000|1Z£OF4 $100
FO% $1,200{EROE $200
FOE $600{EEORE $200
EOES $100{EEO# $200
=OAE $600|EFO LA $200
EOE $200[;H O $1,200
=0 $2,0001 O $1,200
NOL $500[EE O $1,200
=0 $2,000FHEOHE $1,200
PROEE $200|#kOLL $1,200
FOTE $150|ZO7 LD $10,000
O $150|= O $100,000
HOME $500[fROE $2,000
ZHOLS $200|EF O H(#0) $5,000
O $200|EF O H (#0) $10,000
HOBT $200(HHOFHE: $2,333
EOE $200[EHO % $2,333
FFO# $2,000|§E O#2 $10,000
—0O% T $200[&=0O 1 $3,000
=0O%TF $5,000[HHONE $2,334
=OHE $2,000{EOfE $10,000
A Of $500| &2 OF5 5 $1,000
BROFE % $1,000[#=OE $1,000
SORE $200[FR O $1,000
HOE $500[MROZ $1,000
FOREAD $1,000|#RO%E $1,000
HOE $500{FEOPE $1,000
PO $500[E Ok $10,000
=% $1,000[ 2Ok $20,000
O $2,000{#50O4%H $100,000
SOH $1,000|FEOHH $200
= O $300|50OH $200
HO/FH $500|=O &y $200
205 $100|&2 O $200
PROBE $100| = O $200
EFOHE $15,000[Z Ol $200
(@) $15,000|2304 $4.,200
HOZ $15,000[ A OkE $7.650




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
sTO%& $15,000) K Ofst $1,500
BIOF $500/F O $1,500
FROJ $10,000) B O =% $400,000
BROPFZE $1,000|Z2 OAE(H#D) $10,000
ROR, $1,000) F Off $100
FHOHE $1,000|ZFOxE $100
PO $2,000| O $500
BRO#K $800[FRO== $500
HOE $2,000FEO= $200
RO $500| RO $200
wHOH $1,200) R O1H $200
HOLE $100[RO& $200
BROF $100[EROH $200
PRO=E $100| 88 OB $1,000
HOWM $100)EO#F $1,000
EOTE $100[FNOH $150
SO $100[3EO= $100
O $100[7RO= $2,000
HOZR $100[5=O $1,000
w0 $100[FEO ke $10,000
EORE $100[#FO= $2,000
RO¥ $200|2I0F $100
RO%E $100|&£OF $1,400
BEOzF $400[FROE $2,000
BROME $500[2IO 2Tk $100
FO% $1,200|121OJ= $100
PO $600| 2O HD $100
MHOFEE $100|2IOJF $100
BO4% $100[FOE $100
HOBR $100[H= O/ $100
HOE $100[B[ O $100
£ OFR $100[F#=O 1 $100
HOMH $100[FEOfZ $100
HOEE $100[ZEOBHE: $400
TO% $100)kO5% $10,000
FHOZE $100| EOFER $900
HOE $100[#50O4 $10,000
PROEETE $100[#O%L T $10,000
HOFE $100|8 O $1,000
PO $100|2 O $500
O[] $100[BROHK $300
HOgE= $100|1ZFO1& $1,000
BROZR $100[ O $500
AOfE $100|122OF $500
s O $100[fR O1& $600
HOM $100[f2O A $300
HOZ $100[#AROmI $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
PROB $100| EOL $100
PROFBE $100[F=OF2 $100
HHO=E $100[ZEO= $300
HOT $100[52 O $300
FEOE $100[BROfE $500
O $100[ZFOfE $500
O $100| % OFf $500
BROBE $100[ & O $200
s O $100[Z O $100
w5 $100[#E OPE $500
ZOE $5.000[ZF O $1,000
HO¥ $1,20018 O£k $100
FEOE $1,2001R0 $500
BROE $1,200[5& O ke 8 $500
HOIR $100[ & OHEER $100
#FORE $100[=O Hifg $1,000
HO $100[EFOZ> $200
BOR $100|2£ O $1,200
BOIE $100|BEOE $1,200
BOEE $100[5TO1& $100
BOBE $100[#5 O $100
FO% $100| O $20,000
#®O% $100[EEOE $500
HOEHE $100|=0OE $2,000
FROM $100|=0OMs $2,000
§TO T $100[=O= $2,000
§TO T $200[fR OF5 5= $1,000
HOB $100|E=O $1,000
HOB $200|ZFOH $10,000
2O $100[#HOZ $500
2O $200[H£O# $100
w16 $100[=OZ= $100
FON $100[HEOFH $100
PO $400[HOX $1,000
FORMH $600[ 2 OFF $100
#O1E $100[ & O $600
PROBE $600)ZO%z $1,000
#HO $1.000[F O $1,000
F O $200| =0+ $100
TOFHHE $200|F O $300
SO $500[f OF= $250
BROMW $50[ 2 O $100
MO $50[HEO#K $100
HOAF $1001 2O $100
HOH $100[5RO4E $100
O $100|5=0 = $100
HOE $100[5O= $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
#HOE $3,0001A O $100
ZF O $1.000| P OF& $100
FOE $100[21ORBKL $1,000
FOs# $300[FIOHE $1,000
HOF $500(2IOF% $1,000
ORISR $300[FHO= $500
FOXE $1,500|5F O $500
=OT $10,000| O $100
SFO%%k $400[ £ O+ $1,100
FOH $400[= O $200
ZFORE $2,000|BEO%E $200
DS $2,0005BO%k $200
P8 TR 3 A IR A H] $100,000[EEOE $200
H O $500[ZE Ok $200
OBk $100[BROAK $200
B OfE $100fR OF $100
HO#E $100|F= Ol $100
@) $100[FRO#h $100
B0 $100[m= O $200
FORESE $100[EOH $200
HOR $100[E O $200
O $100[#5O%E $200
FROH $300k Ol $200
BROH $300[EO $200
OB $1,000|BEO%E $200
O $100[FEOH $200
RO $100|5ROHE $200
MO $100[ EO= $100
g O $100f OF5 $100
2OE $500[fr OB $100
=OH $10,000|#ORE $200
PROZE $6.000|1 O $200
HOHE $5.000)FEO== $200
=0/ $10,000{ £O*% $200
FOEZL $5,000{ O $200
i ORE $1,000| O $200
HOFE $1,000|FOE. $200
MOE $5,000| O 0D $200
BOFHE I $600[FFOZ D $200
#O $2,000|= O $200
BOE $600[HEOTE $200
w=OfE $5.000)#O $200
FEOFE $30,000[HO $200
O $1,000{ FO%i $100
EHOF R $1.000{5 O $200
=OE $1,000]H# O $200
HOH $1,000) 2= Offt} $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
MO $1,000{ FOitf $500
MO $1.000{EF O $1,000
MOPE $1.000[7ROH $1,000
PROZE $1,000|FE Ot $200
OB $2,000|E= 0% $2,000
MHOE $500[3 Ot $1,000
BHO#S $1.000{AROHF $1,000
BROZR $5.000{FROIE $1,000
SOOI $600[fR O=5= $1,000
TO&E $100[#AOM $200
BO3] $100,000[5EO% $1,000
=OS $5,015|FROFE $1,000
i OF5 $1,000)BE Ol $1,000
EOT $5,000[BR O $1,000
MO $300[21O1& $45,000
fit O $100[#EOF $20,000
O $100f O $1,000
O $500[r O &L $10,000
BROZE $500[3O I kd $500
=0% T $100[5=OH $500
Ol $200|F O $500
#FOE $100|ZF O $1,000
T O $100[= O $500
TO& $100[FR O $100
E=ORY $1,000| EOF 1 $200
MO $200(FOBF $1,015
BO% $100|ZFOKE $1,000
BO#H $100[%0O & $13,000
BO# $100[E= OF&E $200
ZOMk $100[#rO $1,000
£ZOH $500[ EOFHs $500
BEOR $500[2£ O $1,250
BEOEXH $500[BRORK $1,250
i O% $1,000)1220f& $1,250
O $1,000[22O%E $1,250
=OE $5.000[FFO= $1,000
OE $300[=OE $100
w= Ol $200[#AOIE $10,000
RO $200/ 2Oz $100
BOE= $600[HEOH $100
BOH $600[BIOF $1,000
RO $600[ L OEEFK $2,000
21O $600|ZL Ol $1,000
BIOH $1.000[5RO#HE $1,200
EOxE $1.000) O $500
BROJEL $100[O=E $300
HOE $100[ & OB $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

HiE 2B | 218 PR EE
SO $1,000[# O K $100
HORE $3,000|BEOIE $100
HOTE $2,000 it O Fl $100
5RO $2,500[FROF $150
MO#E $2,500[ZPOfE $1,200
SO $3,000[££O% $100
&0 $2,000[H#O2E $1,000
RO $1.200|FO% $250
EO# $1,000|&xOF $1,200
FOK $1.000[FFOF $100
HROEF $10,000[5EO*% $300
204 $10,000|FRO&F $300
HO $1,.800|2IOF5EE $1,200
0% $333[52 Ot $300
PR Ok $333[FROFE $500
0% $334| R O $500
RO $10.000|BRO2E $100
s O $5,000EOTE $100
EEQH $500(% O $100
EEOH $500|EH O $100
Q% $10,000)E=O7H] (D) $200
Ok $10,000{5 O $100
AN $5,000[#OF% $200
POZF $10,000|58OF $200
TO%E $5,000[FE O $300
O $1,200[7#O $200
FOFEE $100,000|5EO%4 88 $1,100
ZOFE $5,000|#ROH $100
O $60,000|# O $100
HO4% $3.000( 21O $100
O/ $52,000| = ORE $100
PROBA R $10,000{5 OFH $1,000
PROMT 2 $2,000[FROH $100
O $500|FRORk $100
MHOZE $1,200{ EO#k $150
BHO%S $10,000|BRO % $150
BHO $3,000[FROZ $150
=0%+ $100[FR Ot $250
TR E R B IR E] $100,000|FROFH $100
O $1,200|BE O $100
FOHE $100|5EOF $100
O $1,000|1% O $100
RO $500[HOFESS $500
EOR $100[ O $100
= O $100[Jitfi O 3L $100
ZOUfE $100[4 O= $100
HOBK $100\EBO%) $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HOH $100[ & O $100
£0H $100[ OB $100
£ZOJN $100[ 2 OF $100
£Z0B $100[HOZ% $100
BIO= $100[FROF $100
PO $500[= O $100
HOE $500|ER Ot $300
BROmE $500|HOEE $300
#FOR $100[ET O $100
#*O $100[ETOfE $100
FRO# $100[tO+- $100
Z=OA $100[EHOE $100
FOZ $100[FHO #h $100
FR O $100[BROFK $100
ER O $100[FROZ $100
7O $100F O $100
RO $900 BB O $100
TO#HE $200[BROH $100
ESOLS $200[ER Ot $100
sTOH $500FR OF $100
+0O $200[FRO2 $100
TOE $200[ROE $100
E@)= $200[BR O $100
O $200[BROLF $100
TOH $200[ 5O $500
MO $800[FEOF ({#D $600
PO $10,000[5ROFE $1,000
OB $1.000[FFOBK $100
HOZ $1.000{HROEK $100
HBO&E $1,000|121Ot% $100
2O $100[BROZ $100
EOLH $100[#RO $100
POgE $100[#O%2 $100
PO $100| O $300
ROSF $100[O & $100
ZHOLS! $100|FEOF $100
RO $100[HO%H $100
RO $100[=ONE $300
ROE $100 (48 O $250
HONE $100[#EOL $250
RO $100[#EO $250
FOZE $100|ROZEE $500
RO $100[FRO#E $1,200
#ROH $100[5OZ%& $200
HO#E $100|E=ORETE $1,200
RO $100[FO & $250
HEOX $100[5=O%> $3,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
ROZ $100| % Ot $1,000
ROHi $100|FOff $125
O $100|ZFOH $125
RO $100[EO1E $125
ZILSFHETE $10,000|FO% $125
NSRS $100,000&£ O $1,200
O $1,000) & O $300
ORI $1,000[#O %z $300
MOZE $500[=O#% $300
HOFE $10,000|E O $300
sTORE $500[=OF $300
2O $500[EOH $200
O $20,000{Ba[O $200
PO $10,000|E= O $1,200
POIE $10,000| 2254l 25 A TR E] $500
O $20,000| —Fzaa b SE $2,000
O $20,000) A S $2,400
ROk $1,000)#H O% $200
HOR $1,200[FEOF5 $200
HOF $100[BR O $200
@) $1,200);& OfF $200
HEOHE $1,200(/& Ot $200
O $100|= O $200
RO $2,000|{z=OFE $200
FOIR $500|=FE O $200
BO $600[#AOAI $600
BRO1E $700[H O $600
RO $530[Ek OfZ $600
£OkE $1,000[# OB $200
tROZE $600[;EO T3 $200
PROAL $600[EE O $200
HOE $600[ER OBk $200
MHO& $600|F O $400
RO $600[HEO 7= $6,000
tRO% $600[F=O $3,000
AOE $600FF O $10,000
I O#& $1,000|PHR O $10,000
ROPE $50[EkOF5 $100
R OiRHE $50[EOH $100
mO& $100[ O $100
mO& $600[EOTT $100
uOE $200)75+8 £250 $2,900
ROZE $200[# OE HD $10,000
RO $200[FEO % T $1,100
KO& $200[FEO s T $8.200
RO $200 |8 OFEEE (HD $10,000
FAOH $600[#EO%F $1,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

HiE 2B | 218 PR EE
it Ofik $600[i=O% $500
FO% $600| EE O $1,200
FOER $600|EFOF $1,000
EHORY $200)# Oty $10,000
HOH $100|BEO $1,200
HO $100|BHOZ1H $100
HOA $100|#kO2 $10,000
RO $100|= Ol $2,000
ROS $100[Z2 O $1,000
RO $100)#OAL $10,000
GO $100|#kO% $2,000
OB $100| O & $4,000
OB, $100[&£OF $300
HO&E $100|FRO= $1,200
BO% $1,000{ i OF5 $1,000
AOJE $600[ EOEYE $1,000
FOE $600[ = O $5,000
BON $600[5ZOHl $5,000
AO% $600]E Ok $500
AOZE $600| EOREAD $1,000
PRO%K $600|1#OJ= $500
RO T $100|1 kO $500
O $600|=OJF $100
O $600| = OFFF $100
MO $600| = O $100
HOZ $600|= O $100
FOIE $600| = O# $100
FOB $1,200| 2O $100
PROZE $500| RO $100
RO $500[{E= O $100
TO $100[E=OH $100
TOEE $100|# O $100
PR O $7,650|&£O $300
EFE T $1,000| &£ O $300
AR R B AR AT $5,000| 5O $300
R LRSI (S ) $2,000|&£O%¢ $300
BROTE $5.000|ER O£ b5 $300
FOM $500]ER O $300
HOZ $2,000|EEO $300
PR O $5,000|E OB $1,000
EEOE D $500[H O] $1,000
BOZ $1,000{ZFO%h $250
PROK $200|5O 7T $250
FOtE $1,000|5OFE $250
O™ $200|ZEORk $250
HFO$h $2,000|ZE O $1,000
SOM $500|#EO% $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
fEOA $300[7RO5# $1,000
RO $100|5=OF $1,000
EORK $50| 58 Ohsk $500
HOME $1.000{FOFH $500
HOZE $200|50OF $1,000
MHOEE $200 7% O <3¢ $200
MOEE $200[E O $10,000
PO $200[ kO $10,000
FOH $200| 4 g (=T $250,000
OB $200 R O $10,000
ZOE $200[# O $1,200
ZFOH $200[FEOEEE T $2,100
FOF $200[PR O A3 $10,000
ZOuk $300[E O $100
£ZOE, $1,000|1ZOt& $100
BROE $500|HFOZE $100
s ORfE $200[E O $100
HOFE $1,200|Z O $100
£0# $500|2£ O $100
B EARAE $20,000[EFO& $100
FFOEMD $10,000[z=OF% $100
BROIMA, $10,000[F=O $100
#®OE $10,000[F= O $100
TOE $3,000)#EOFK $100
BROER $200 (1] O3 $100
TO&E $100[EEOE $1,200
O $100[tOFE $1,200
=0% T $100[ =R $1,000
2208 $100)4£O%Z $10,000
BEOE $200[#EO#t $1,000
BEORE $200[REOTT $1,000
O $200[#1OF $1,000
HPO&A $200[HO< $1,000
O $1,200) B O& $2,000
sTOF $2,000{EOF $400
HOMf $2,000{EO%C $400
FOZE $2,000{E£O7® $400
BO®E $2,000|FO%E $400
SO $1,200]| £ O $400
BEOJT $500[ = O $6,000
SO $5.000[HEONH $600
SO $10,000|HO= $1,000
BRORL $500|45O 2 $100
sTOFY $500[EPOHR $200
s Ol $500[ = O= $200
#E O $200[FROZ $400
GO $1,000] % O H #k $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
FOK $100[3O# $300
SOR $5.000)E=O& $300
BIOF $100[=OF%L $300
HOC $50,000) 5= OB $300
TOZE $50,000[ RO $200
HwOBE $500|% Oth $300
FOBH $100[ & OmX $300
BEOE $15,420(Z2 OB $300
O $10,000] & OM& $300
BIOFH $100/8 O=F $300
2OJ= $100|% OFF $300
BIOEED $100| % ORE $300
B0k $100120O $200
BIOE $100] = OFEF% $200
FOM $100[#FO%j $400
2O $100[tO%= $100
FEORE $100[#H O $100
#OF $500[#H OB $100
FOXE $500[t5 O $100
A OfE $500[ O $200
HOH $500[FH O $200
FOR $1,000)# Oh $200
R A RN E] $1.000|#H O $200
O $5.000) & OFLFT $200
O $10,000[FH O $200
FEONE $10,000| = O $200
HEORF $10,000)FE O $200
T ORE $10,000| B O $200
FOH $2,000| = OFF $200
=OT $500[ = OF $200
MHOEAE $100| = O $200
KROZRE $500|21OF $200
£OF $100[ &= Offf $200
£OlE $100[/RO1E $200
ZOE $100|E=ORK $200
FOEL $100[= ORI $200
FOR $100[t5OF $200
PO $100[EROF $2,000
£ 0% $100)4EOK $1,200
OB $100[BIOf $500
PO $100 |58 O 4k $1,000
PHOLT $100|# O $250
FOH $100[FH O $250
POfE $100|ZFOF- $1,000
HOtE $100) = O $300
ZOE $100|EOZ $1,200
MHO%E $100]F O $3,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

HiE 2B | 218 PR EE
Z 0% $100| 21O $500
2O $100(#AO % $300
WO% $100|HOTE $1,500
O $100|EROE $1,000
fEOH $100[7k O $1,000
BOE $100|ZE O $300
BEOHT $100[MORE $1,000
BHORE $100| O3k $500
RO $100| EORA $1,000
PRO s $100frTO PR $500
PROZ $100[21OZ $200
Oz $100[FFO™ $2,000
BHOZ $100|21OF $400
BHOZ $100[FAOHE $2,000
SO $100| 84 Op $1,000
220m $100|#EO#, $300
$BOH $100[HOF5 $300
HBOE $100[E Ok $1,200
1BOH $100[FEO K $300
1BOH $100[HEOE $3,000
BO#H] $100(#EO%E $200
5 Ofii $100)7E O F A $200
ROE $100[F2OE $10,000
PROME $100(t5O 2L $3,000
ROFR $100|EF O $2,400
PR Ok $100[FRO= $1,200
BOFT $100| FO% $1,000
MHO% $100|BBOZ% $1,000
PROZE $100[FFOHH $2,000
PR EsHA $100[FROZ $100
B A $100| RO $100
PR D $100|Ex O ESFEIR $600
BEE $100[FEOFE $1,200
MHOEAE $300[FR O $600
HOF $100[EFO7R $10,000
BO% $100|E Ok $200
HEOZK $100[fa OBt $10,000
HOE $100[EO1Z $1,200
A OF{ER $100|HOFL $1,000
HEOE $100[Z=OH $1,200
HOFEE $100[z=OL $200
TO% $100[FO & $1,200
HO#E $100|BIOHE $1,000
HOE $100| 7O $2,500
PROFESE $100(75 O#; $2,500
O $100[EO%E $200
=OIA $100|FEO= $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 PR EE B2 BB
MO4E= $100{2£0 $100
RO $100|2Z0O%& $100
aOE $100|Z0O% $100
O $100[HLOH $100
EOM $100[ O = $100
HOZE $100|12ZO%L $100
PR OB $100[HOFE $100
PR OFEHE $100|12Z0O#% $100
FEOZE $100EOHE $100
HORE $500)4£0 $100
O] $200| O $100
P O $100|EFOf& $100
F Ol $100[EFO $100
PR OFt: $100|Z= O $100
FEOE $100|20O% $100
O $100|2O% $100
FEOZ $100[=OH $200
BOE $100[#5 O $1,200
ZEOFEM $100[ 8 O $24.,400
Z2OI% $100[#OH $5,000
#0E $100[#OH $5,000
FOB $300[Z=OiE $100
ZOJE, $300[ P Ok $2,000
PROME $300[FH O $2,000
ZEO% $300[ EOE $1,000
HOE $300|Z OHE $300
PROH $300[E= O $100
HO11 $300]E= Ol & $100
M OH $300|=OE& $100
HOE $300[F2O & $100
HOth $300] = O $100
#0E $300[#8O % $100
HO%E $300[38O $100
#O% $300|FEOF 1 $100
ZEORE $300HE O $100
#OLE $300[fTOF $1,500
O $300{2£OJE $200
EOH $300| EO=E $200
EOE $300|FR O%k $200
EEOZE $300[#8O % $100
PR OR% $300| 21Ok $100
BROLL $300[#k Ok $3,000
P O <z 3 $300| O F $200
RO $300[FOEH $300
Oz $300[ O $600
FEOFS $300|EHOFE $600
EAOZ $300)E Ol $600




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

g2t 2 X | Eati] HRREER
£ZOH $300[ & O $100
BOH $300[#EOF $1,200
BOE $300|EOE $10,000
BOHE $300[HOEL $3,000
BOH $300[7ROF $1,000
BO# $300[= O+ $3,000
FEO i $300|FECOZ& $12,000
FOE $300[ O 5T $2,000
PROZE $300[ O 5T $6,000
FOF $300[Ek O 5 $600
wHOR $100[EkOF $100
w=OE $100)| £ Ot $300
O} $100[52O%% $100
O $100[5=OK $5.000
s O $100]50O E 0 $20,000
BIOFHe $100[#E O $10,000
PROZ= $100[FR Ot $1,000
= OFH $100|E=OF5 5 $1,000
w06 $100[ O $1,500
=018 $100[#HO=2 $1,000
MHO% $200[RO%E $1,000
£0% $500[#FOF $1,500
+O=E $100|1 =0+ $3,000
BROFT $100| = O% $100
ZOZE $100[FEO54 $200,000
HOT $100[7RO A $10,000
HO% $100[F1O $1,000
HO%% $100[FEEOBL(#HD $10,000
FOEH $100| PO $100,000
it OF5 $200[fE O1f $300
H O $1,200[ & O $200
RO4L $2,000|PEOAN $10,000
FO%m $600 R Of $100
SO $600|F= Ol $100
PR S $300[FRO#h $100
fEIH A $300|F OFE $600
PRTHD $300| EO= $100
BRAESE $300|f OF5 $100
RO $200|FOF $100,000
SBO%k $200|HEO# $100,000
BEOE $200|BEOTE $20,000
BROE $200[FHO=E $1,000
T Of&E $150|FOE $1,000
sTOM $150[BOE $1,000
HO= $200|ZO== $1,000
OB $200| RO T~ $100,000
BROBK $200[ROH $700




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
PROBK $2,000|FOZ& $700
FORH $1.000/EOE $1,000
ROFHE $1,000|EO%f $700
FOJ $300[=OF $5.015
O $2,000| FHO# $200
MHO= $500|Z£OAIFE $100
O $500[EFO#h $2,000
w=ORM $500(FR O1& $1,200
FHO&E $1.500[2£O % $100
HOE $200/Z£OM $100
BROMW $50|Z20O R $100
2102 $200(21OF= $100
FROH $200[#EO 15 $100
HOH $200[=O% $500
EHOM $200[F O $100
wOZ $200(BEOJFEEFK $300
s OfE $200[=O %+ $100
EAOE] $200| =05+ $5.000
MO $50[ O $1,000
w=OF $200[ER O $100
FO% $200| &= Ot $1,000
BOE $200f OF= $500
O $200[ 50O $200
#O $200| RO $200
£ ORk $200[ AR O1H $200
BOT $200[ RO & $200
BOH $200| RO $200
BOE $200|EO K== $1,000
RO $200[#FOEE $100
O $300[HEOFH $500
HOBH $500[= O $100
RO $6.000|122 O $1,000
BOZ= $500[BBOFF $5.000
BOE $500[BROA $100
BORE $200[17 OFE $100
BO= $200[3E OF $100
HEOE $200)FEO 2 $20,000
+0O¥% $200| =0+ $1,000
FOH $200 7% O st $200
O $200|E=0O7K $10,000
ZOR, $200[F1O 2 $3,000
O H 2% $500[ZFO#) $500
HOTE $500[& O $500
O $300[BBOH $333
PROM $1,000| 4 ORE $333
RO $60[BEO%% $334
RO $3.,000| EOFHT $5.000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
s OFP $100[#FH O $5,000
O $10,000{#AOEE $2,000
ZOR $1.000{HROEK $2,000
HO& $1.500[ZF O $2,000
=05 $100[EO# $5.000
g OB $100[F=OF $1,000
HOR $100[5FOF5 $2,000
PROIE $100|= OBk $2,000
fiti OFI $100[5OBHD $3.000
PROE $150[ =0T $1,000
BROZ $1,000) B O. $500
ZOH $100[£OB $19,000
H O $1,000) &5 O $250
ZFOHE $250[FH O $250
ifOTF $100[21O = $200
RO $300[BRO $500
BOR $200[EEOF=TE $5,000
ROSHE $500| = etEs $2,000
SOt $300[z= O+ $3,000
RO $500| RO $10,000
PR Ok $500| RO $10,000
BROZR $100[5=OME $2,000
EOTE $100[PRO= $10,000
sHOH $100f O $10,000
B O] (#0) $200|EFOHE $100
HOHE $100|122OF $500
BROZ $100/2£0 $600
AEO8% $500[2£ O] $600
ROZEE $100[2£OF0 $600
POt $100[FFORE $600
w3 $100|22 O $600
BIOH $100[FFO $600
OB $100[ =0+ $100
HOF $1,000) 7O $100
BROH $100[/H Oz $1,000
BROBY $100[FHOHF $1,000
TOHk $150[=OE $100
PROZE $150)FEOE $10,000
BROZZ $150|2 Oz $100
BROH $250[ kO $1,000
BROFH $100[#OZ $10,000
RO $100[{T O $1,000
FOH $100[ZEOA $500
BOB $100[ZEO#fi L $500
AEOFEF $500|122 O£ $500
fi OTE $100Z£OM $500
fiti O 3L $100|FHOFE $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | E2Li HRREER
LO= $100[FFOAN $1,000
O $100 i O BH $2,000
g O $100|HEOA $2,000
g O/ $100[Ek O $500
2OZ $100[F£OF $100
FOZ $100[HEOFH $100
BRO®& $100[ 2O $100
s O $100[HEOFK $100
SO $300[=O $100
HOEE $300[5OHE $100
s Offi $100|5=0 = $100
sTOf2 $100[5O $100
POBE $800|A O $100
BOT $100[#OF $100
EHOH $100|HEO 5 $500
sHO Y $100[£5OFE $200
BROEK $100[= O, $100
RO $100)#EOF $300
BRO B $100| & OBH $100
@) $100[ O E $100
BRO% $100[EROIE $100
BROME $100[ ORI $100
BROE $100/EO#E $300
BROZ $100[BROF $150
BROE $100|F O $250
PR O $100[5FOT $100
BROLT $100[7RO¥ $300
RO $500|7ROEFH $300
FEOEED $600[ 2Ot $300
RO%E $1,000)BFOFA $200
FIRG)DY $100[FROFE $500
MOTR $100F O#k $500
RO $100fH O $100
BROZ $100[EOTE $100
MO $100[ O $100
sHOE $500[EHOFT $100
O $500[= OJH ({0 $200
FO% $500[F O $100
TOH $500)#E O $200
TO% $500[7ROF $200
ROH8 $1,000)7RO#E $300
+O1d $1,000[5£O $200
EOF $1,000[5R OFEEE $1,100
AHOE $100[#E Ot $100
FEORM $100[E=OL $100
AEOH $100[B1OA $100
RO $100[E= O8E $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 ERSEE 5 ERE&HE
sRORE $100[EFO58 $1,000
TROZE $100[ FE Ok $150
ROEF $100(fEO%E $150
=0k $100(fOZ $150
BOE $100[BR O $250
BEOE $100HOZES $500
(EROES $100[jEO1E $100
ROH $100[EO=L $100
ROZ $100|&2 O $100
MO $200{EF O $100
=0O%F $600( 8 O $100
SOR $300( % OfL $100
FEO $250|E O $100
FEOZL $250[FO 2k $100
FEOS $250[EOFE $100
TRO%E $200(& O%f $100
2O $200(EF Ot $300
ZEORE $200[E O %L $300
FOZE $200[5F Ot $100
FOTH $200[5+Of& $100
FEOZE $200{#50OT $100
BHO%E $200[EHOIE $100
A O A $200[EHO# $100
mOE $200( B OFK $100
BOZ%E $200{[ O $100
Z0= $200(FR O $100
RO $200[HE[ O $100
=X@) = $300( B O %5 $100
HO5H $10,000[BEOta $100
£0E5 $250[FROF $100
FOE $60,000[BEO 2 $100
220 $1,000[BROE $100
O $10,000|FEOHE $100
BOM $6,000[BEO4F $100
BOM# $6,000[ 2O $500
ZZOM $500FEOE (#0) $600
AR IRAHE $500{58 O%% $1,000
BOFE $10,000[EFORK, $100
PEOIE $130[#R Ok $100
=OE $2,000(21O $100
FOH $500( s OZ¢ $100
=OMs $2,000[ RO $100
O $1,000|{HO== $100
EOMR $100[ FOEKE $300
O $100[ 2 OFF $100
EO%E $100|ZEOn5 $250
O $100[ZEO#% $250




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
O $100|2E Ot $250
£Z0OH $100|&E OF $250
HOE $100[O & $100
s O $100[FEORI $100
e OF $100[HO%H $100
HOH $100| =05+ $300
=OF $2,000| =05 $1,000
POk $100[=ONE $300
FIOF $100| RO iskHA $250
BROFE 5= $1,000|#O=L $250
RO $100[#EO $250
H O $500[BRO & $500
TORERD $1,000|7ROAE $200
MOR $500[F0O & $250
PO $500[O= $100
OBk $800[ZFOfE $500
O $800| % Ot $1,000
EOFHE $800[FROF* $200
@) $800|FOff $125
B0 $800[ZFOH1 $125
HOE $500[FO1E $125
FOREHE $800[ZFOFk $125
AOR $800[E= O $300
O $1,000[#5O %z $300
g O $100[=OH $300
EOA $2,000) B O $300
EO¥ $2,000|E= O $300
FHOL $2.000[#£O $4,000
H=OH $10,000[ZFO4= $100
SROBE $10,000[ZF O/ $100
ROZE $10,000/E O $100
=OW $10,000|BROCHE $100
JEOM $200| ZesRaR s A IR A E] $500
B Ok $200[7LOE $1,200
RO $5.000) &= O#k $1,000
O $10,000| 52 OF5 $200
BHOF $10,000| 5= OE $100
EOH $6.000) B Ok $300
FORE $20,000[FE O $200
O $600[ O % $500
BEO $1,200|1 O $200
BROZ $1,200| POl $1,000
EOH $1,200[BHOY $5,000
BROHL $600[E O $250
BOJE $600[5FO = $1,000
HOLE& $5,000[5R O L $5,000
BEO%R $1.200| FOFE $7,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BEOr $1.200|BRO & $800
EO=E $1.200|# O 20 $1,000
O $1,20015RO = $2,000
RO B $1.200[{#2ORE $3,000
PROZE $1.200|FOH $500
LOF5 $1,200{ F=OFE $1,000
FOH $600[ZE O Z $1,000
=OR $1.200{#RON $1,000
BRO M $6,000|EO= $2,000
BRORESE $2.400) O $500
RO $1.800[HEORESE $2,000
B0k $100[EOFH $500
EOHIED $300,000[EO= $500
BO& $10,000[E=OK $500
FOLCER $3,000{ZIOEE $2,000
O $1,000)% O $500
#OE $250[ EO&H $500
EEIOES $250|EO%x $1,000
A OfE $250[#FOF5 {5 $200
IO $250[HEOBk $200
MHOBEER $100|ZF O $1,000
PROFL $10,000|F O $300
BRO $10,000{#RO= $300
BROH $600[=O £y $500
MOz $600| = O% $10,000
HOZ) $600[FEO $300
MHOEAE $100[fa OZA $500
BO $400[EFOA $500
Ok $500|E=OI=] $200
=0% T $100|HROHE~Z $200
EOFHE $200[BROZE $200
T OMR $500[EFOFA $200
SO $500[FOE $200
£OFM $100[= O $100
200 $100[F=OBE $100
ZOE $100|E=O& $100
FOEL $100[#EO Je $100
ZOR, $100[ = Ot $100
PO $100[#EOE $100
£ 0% $100[#ECO=H $100
MHOE $100[3E OFAL $100
PO $100[HEO}d $100
PHOLT $100[EFOfE $1,000
FOH $100[FR O1& $200
MOE $100[fROF= $500
HOtE $100|470O & $12,000
Z0OE $100|F=OE $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
MO $100[E=OFE $200
£0% $100[{E=O $200
£OWE $100[BR OF $200
O $100[#HOZ $1,000
HOZK $100[#EOE $100
RO $100[ & OB $500
EOME $100[#rO $1,000
O L $100[ 2 O3L $500
PRORE $100[21ORBkL $1,000
BROLL $100[FIOHE $1,000
BRO 538 $100|2IOF% $1,000
BROE $100[52O% $200
BROZE $100[ & OB $250
BHOZE $100] & O $83
BHORZ $100[ O $83
ffO® $100[FO= $300
£ZOH $100[m= O $200
BOH $100[=0OF $250
BHOE $100[m=OFE $250
BOHE $100[E= O $250
BOH $100[ 2 OF $84
BO# $100[ & OHEEL $150
O i $ 100 | #EHG = (B RE O A TR /N 5] $100,000
FOE $100[EEOHE $20,000
PROZE $100[EFO% $400
FOF $100[FRO $10,000
BROSL $200[=O%% $500
BROHL $100[FROFIL $300
BROFT $100|PEO B $10,000
BPOH $200/%2 O $2,000
MHO% $100[FROF $30,000
BROZ $100[BROAI $100
£0% $700[F O $800
O $100[FH OB $400
PO $2,000[= O $4,000
BROF $2,000[FEOEF ({0 $10,000
£0# $500|5=OA $10,000
#HO $1,000{#EO7K $400
FOH $500[ZOxE $10,000
i OL/NDK) $200|HRO&L $10,000
ROZ= $10,000[BROZE $5,000
HEOEE $500| EOF $100
PR $100| £ O 4% $3,000
fEIH A $100[#0O4 $200
BRFHD $100[HEO & $200
BRAESE $100[ 2 OiFfE $200
EAST LION CORPORATION $491,168[EO%5 $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
BRO $1,200[HLOFEE $200
BROB $1,200{ O $200
g OH $1,200[4LOE $200
FFOERMZ $600[FO = $200
2O $200 R O $200
BOZ> $200[HEOF $200
#O1E $100[5TO%E $100
BROH] $100)#EOLK $100
T O $400[=OFE $200
T OfmCGERE) $400| = O $200
TOHE $400[BROBL $200
T OxF $400| s OF5 Bk $200
JTOfE $400[3EOF= $200
OB $100[BAROEE $500
BOH $100[Z£O $300
BOE $100[t5O%% $200
BO $100[t5OFH $200
BOR $100[#OF $200
@) $100|2£ Ok $200
MO $100|22 OB $100
PROZK $100) & OFF: $1,200
O $900[ RO == $400
ROFE $1,200{ RO = 5E $400
GO H#k $100[#FOF $400
Z0OH $100[ RO $400
KROJEE#E $100[#5OF= $500
RO $100[EROW $300
RO $100[FROHE $300
O $100[FR Ot $900
s O $100|m= OS54 $1,100
OB $100[FZ O1& $5.000
B Ofa $1,200| 2O $2,000
=HOH $1,200)£O=L $800
HORF $1,200) B OFL $2,000
ROT $100| 2O E $1,200
RO $1,200[OFE $1,200
RO $1.200(#5 O %] $1,200
RO $1,200|=0%% $300
PROZ $1,200|=OF5 $300
BROL $1,200) = OH $300
& Oth $100[ZEO1H $200
i O $100[#£O $10,000
EOE $100)1=0 $10,000
O $100|FEOF $10,000
g OE $100|PROF $10,000
O $100[FRO B $10,000
g OFE $100|BE O $10,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
A0 $100| ¥ 1EE $10,000
HOE $100) PRS2 $10,000
HO1E $100| =3 HeRE $10,000
= OFERL $900[PR&H AL $10,000
MHO% $100[F O $20,000
BOFE $100| %0 B 185 $208,832
i O $100|FHO%& $1,000
H OBE $100[m= O $100
BOE $100| = O $100
ZOH $300[ = O $100
(SROEN $10,000|=O1= $100
s ONE $1,000{E= O $100
PO $100[F O $100
PROJE $10,000|f O $100
BROME $10,000| 5= OF] $100
FO% $1,000)E=Off $100
MO $1,000)E= 018 $100
FPROME $1,000[ O $1,000
HOFE $1,000[;& O $1,000
HO $400| EOH $1,000
A O () $2,000|2IOF $100
i ORE $1,000|EL O $100
BROX $10,000/EOfa $100
i O $1,000|EFO%E $100
PRO4N $200|FFO1= $100
RO $1,200|E O $100
O $800|2£ O $100
i O ] $400 1] O $100
FZ O $600|2IO 2Tk $100
RO $600[FIOfE $100
BOEGER $10,000| 21O D $100
H O $10,000{ 21O $100
1 OBl $10,000|21O& $100
HBO%E $30,000[FEO/F $100
RO BAL $1,200{ 21O $100
e O $2,000FE=O 1 $100
MOBER $10,000/F=Of% $100
HOLE $1,000{=OF $500
RO $1,000(#AO 5 $600
BIOZR $100|FOF= $20,000
HORT $500[FH O $1,000
FOH $1.000|1 O 7 $300
ROBE $5,000[# OB $100
RO $5.000 & Ot R $1,000
£ZO1MR $10,000{ =0+ $600
EIOES $5,000|=0O%F $100
FORKH $5.000[ =0+ $600




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
HEO $800[ EOFFtE $200
[ $100,000| 8 O $1,000
i O& $200| EOL $100
FOH $1,000{ O $100
ROE $10,000|1#5 O % $500
=0O% T $300[,LOE $500
O $5.015|%20O % $200
FO8 $200[#F O $200
BROW $50[21OF5 $400
O $200[BBO $300
BAORZ $1.000{ZFO% $250
BEOR $500[5&OJT $250
BOEXZH $500[7ROH $250
MO $50|F OBk $250
w= Ol $200[HOZ $1,000
HOH $200[5TOF= $1,000
ORI $300| EO= $1,000
2 O $100[#AOIEl $5,000
EOLH $100[#O%E $300
MORE $100[BIOF $1,000
PO $100[EFOZ> $200
ROSF $100[#5 O $1,100
FEOH $100)H O $2,000
RO $100[5ROfE $1,000
RO $100| kO $100,000
ROEB $100[FIO=2 $300
HONE $100[£5O %l $10,000
RO $100[5 0O $10,000
FOZ $100| kO EF $1,000
RO $100[Ex O $1,000
#ROH $100| £ O $500
MOE $100| EO#izE $500
RO $100[E= OB $600
HEOX $100[E= O35 $600
ROz $100[FRO%E $600
ROHi $100[f O $500
B0 $100[FROM= $500
BOZ $1.000[EOH $500
MOKA $100[FRO= $500
ZF Ot $10,000{ FO=F %+ $3,000
FOFE $500| EO=F5T $6.000
HROZE $10,000| 22O =& %1 $10,000
2Z0F $2,0001 O£k $1,000
=OF $4,000)5F O $1,000
O $500[FF Ot $1,000
OB $1,000)#H# O $300
BEOF $1,200[&F O $300




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
e O $1.000[4CO < £ $1,000
BOEE $300[#EO A%k $1,000
O $1.000[ZFOEE $1,000
£ ORI $750[7&O $300
RO $750[FOZ $2,000
#FOH $100|E1OME, $300
FO4 $1,500{#%O1F $300
BOFHHD $40,000|# Oz $300
TOEE $1,000|#7O8EE $300
£0 $500[FO% $300
ROZE $500[Ex O F $300
=OH $1.200|8£O £ H $300
FOH $600 |k OHf $300
FRORL $300|F O $300
BROZEEE $500[=OAE $300
BROZR $500[ 2O $300
O $500[=OF $600
FIORK $500[= O $600
SO $100[= O $600
£Z05%8 $200| = OFEER, $600
POHE $200 O $3,000
s OB $1,000[5F Ol $200
EOF $10,000[Z£OEL $20,000
2O $10,000| O $1,500
=05 $1,000|FOR $1,000
O $2,000) P O% $1,000
BRO $2,000) B O $900
=OZ $10,000| 52O $1,000
=0F $10,000)ZF O $200
BO5| $100,000{2£0 $1,000
BROIT $100[2£O¥ $10,000
BRO& $100|fOF2 $10,000
PROE $100[FEOUX $1,200
FEOR $100|2OFE $3,300
s Offg $1,300)&=0OE $50,000
BROH $6.000[fEOLK, $3.410
BOik $3,000]BEO $1,000
BROE $500[ 5= O%k $1,000
BIOKE $1,000|&F O BRI 52 $600
BIOHE $500[#£O $1,000
ZIOE $600[EOHE $1,000
BOMGED $500|FEO 15 $100
A O $1.000|8O%t $200
RO $300[fAI O Pk $500
Jit O $100[= O $200
=0% T $100[#AOH) $2,000
=0 $500[= O] $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
wOME $150[MO 5 $2,000
FOE $100[FOs% $300
BOE $150[PROIE $1,000
FEOsA $150| 5 O $200
O $150[EFOLE $300
FE O $150[m= OH $600
OB $1,000) &= O $600
O $4.500[= O $600
BRO3 $500[5=OMTH $1,000
HOE $300|7#EOK $1,000
£ZO%H $1,000|5EOE $1,000
LOZ $1.000[Z2OHD $3,000
A Off $1.000[5ROEX $1,000
=OMN $1.000[5 O $1,000
A OH $1.000[5OFx $1,000
A OfE $1,000|BEEO& $100
EOE $150|# O $1,000
RO $1,000{#5O XS $1,000
HOE $1.000[H O3 $500
A O% $1,000)# O $500
A O $1,000|FO== $500
A O%e $1,000)# O3 $100
A OFT $1,000| E O3 $3,000
O $200] = O & $500
HOFZE $200] /5O J< JH $500
TOBk $200{E=OR(E H) $100.,000
i OFF $200{ EO&V] $10,000
HOH. $200| 5 O% $2,500
i O $200| 5 Ok $2,500
#HOH $1,200{ =0+ $500
sT O $2,000|BEO%E $700
it O% $2,0005BO%k $700
sTOE $2,000|5EOE $700
FRE LR (E ) $3,000|ZE O%k $1,300
EOH $500[BROAK $200
BIO= $1,000) &= O $200
sHORI $200[EOH $200
BROEFE $200,000|E3O<e $200
BOE $10,000[t5O%E $200
i O% $100[7OFE $700
BROF $100[EO $200
BROE $100(5EO*E $700
EOWM $100[FEOH $700
EOTE $100|FROTE $700
SO $200[t5OFE $200
O $200[tOF $200
HOZR $200[H=O=# $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
O $100[ O $100
ZOR $500[ EO& $100
ROFF $100| EOJF $100
BRO# $500[ZF O, $100
BROFE $500| EOAHD $100
O $100[FF O D $100
w0 $100[FOE $100
£0% $500[HEOTE $100
£0U1E $100|3O $100
BROE $600|FHO $100
HOFR $100/FEOZ(HD $600
HOH $100[# O $600
1O $100[m= O%k $600
RO $200)| 8 O% $1,200
#2014 $100|% Ot $1,200
ZOJN $100|E=OH $300
ZOR $100| 8 OF $1,200
BO== $100| 8 O1E $1,200
HEORE $1,000{% O#% $1,200
PO $100|% OF! $1,200
fZOA $300] & Ot $1,200
PROTE $110[ =0+ $3,000
PO $730[ERO*E $600
HOT $100[#FO& $600
2102 $200[HOEE $600
BROFE 5 $600[/HOHA $600
BO%Z $500[FH Ofik $600
LOE $500[2£ O $2,500
JBOE $200[BRORK $2,500
ROZE $200|122O1& $2,500
RO $200[2£OF $2,500
KO& $200[5 O $600
RO $200[=O%i $400
BROBE $100| EOH $500
FOMH $500[#FEOAL $600
s T O $2,000)Z= Ok $500
T Ol $1,000|2OF $16,000
B Ot $500| 2Ot $1,000,000
PROZE $100| 5 O $10,000
H O $100[#F Ot $10,000
SOt $100|E= O $1,200
HOFz $100[EO ¢ $1,200
O ST $100[#HO $1,200
O $100| =P8 T fb e $1,000
SOtEE $2,000) 8k OFE $5,000
ROZ $1.000[FH O $1,000
@) $1.000)¥O%p $35,000




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

B2 ERSEE 5 ERE&HE
O $300[FROFEZE $35,000
EROU $500[FOfE $2,000
=ORE $200[EO5 $2,000
O£ $1,200|5R O3 $200
PEOFEE $1,200[HOZE $100
ORI $1,500[#R OIS $200
BEOFE $1,000[O HEE $1,200
FHOw $3,000[=HO& $5,015
SO $1,200( EOBEE $2,000
B O $500[ O BE $500
HOE $650|5FO $1,111
HO® $600[FFO % $1,111
O $0[EFOE $1,111
HEOME $700[5F Ok $1,111
RO $500|FFOFE $1,111
PR O] $500| EOF $1,111
O $10,000|15FO & $1,111
EOK $50|5F O $1,111
FO# $500[BtONX $1,112
BEO# $1,000|12£015 $200
P O $300[Z£ O3] $200
HOFE $1,200(25OF1 $200
EOE $1,000|#ROFE $200
ROE $100[Z2 O $200
FOL $100[F7 O $200
TORE $100BOF $1,000
SO $200[EHO= $2,000
BEOE $500[= ORI $500
O $1,000[FEO v 1= $500
FOE $1,00080O& $200
O $100[£O%E $200
HOF $100[2£O1H $200
OB $1,000[0O& $200
ROZE $500(|tR O $200
=ORY $S00[EOESE $1,000
FO%E $200{ EOREHT $2,000
FO%E $300[EFH O $1,000
ZOME $200[E#HOJI $2,000
ZO1E $300[BIOZk $100
BROME $500[E O $1,000
SO%W $200|EOfF $2,000
SO%W $300({EFOFE $5,000
=08 $200( RO $100
=08 $300[f OFE $100
BXOHE $200[F=OE $100
BXOHE $300[FEOFF $150
=05, $200[=O5E $100




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
= O54 $300[|ZOFEE $2,000
B=O% $200| =OH $6,000
B=O% $300[EOXD $10,000
RO $200|f O $500
RO $300[ 2O $500.,000
BOR $200[FHO# $10,000
BOR $300|=OE $300
HOE $100[7R O $2,000
FHOK $100[FOE $100
AOR $100[EROf $1,000
ROLE $100)26 O%k $2,000
ROE $100[EEO L $1,000
RO $100[EOE $2,000
AOFE $100[#FOH $200
T O $1,000|1#EO=L $100
+O=E $100| O $100
BROFT $100[7ROZL $5,000
HO#&H $100[HEOTH $2,000
HOH $500[#F Ot $10,000
i OZ $1,000|5:02 $1,000
BOF $100[ RO $10,000
#FOR $100[& O $200
=0% T $300|F O $1,000
FOE $600| PO 4= $1,500
ZEORT $1.0004EOK, $700
BO% $400[EOF $200
FOZE $300[EFOH $10,000
SO $500[#O %% $3,000
OB $400) IEESF $1,000,000
RO $100[AREK, - VTR $60,015
PR Ot $1,000[FR OFk $100
BIOFEH $100[ EOHK $150
RO $100[FRO%E $150
BIOEED $100|BROZ $150
B0k $100[BR O $250
BIOE $100[FROFH $100
FEOM $100[BROHE $100
BIOHE $100|HOF $100
w=OR $100[t5OAY $100
w=OME $100[m=O= $1,200
s O $100[#KO5 $1,200
=0 $100|FOE $1,200
s O% $100[BR O $1,200
RO $100|E=0OH $1,200
PROZE $100[BFO== $1,200
s O $100[FF O $1,200
w06 $100[#F O $1,200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 X | Eati] HRREER
=018 $100|f OFx $1,200
TOXE $300[HO=F=s2 $500
#O $100[HEOTE $100
FRO# $100[HEOL $100
Z=OAl $100[s0O= $100
FFOZ $100|BO%h $100
FR O $100[ & O $100
ER O $100[ 2 OB $100
7O $100[ 2 OF $100
FOmER $300[HO%% $100
FO $100[FROF $100
FO& $100[=O#h $100
R AR E] $1,000|Z O $300
REGE TR $1,000|EFO % $300
BEOR, $20,000[5F O $100
FOEZL $10,000[FFOfE $100
HORKE $1.000|1#0OF $100
HOFE $1,000|EHOE $100
FO*E $15,000[EHO$ $100
RO $10,0001Z=OFEH $10,000
HOFE $30,000 R O $100
HOBEE $1.200|BEOZ $100
EOF $2,000[FR O $100
e O Y $1,000|EF O $100
ORI $2,000)BEO%H $100
BROE $500[ER Ot $100
PROBH $10,000|BR O $100
s Ok $300[FROZ $100
HOIEY $1,000[FROE $100
B OBk $2,000|BR Oz $100
EORK $200[BROLT $100
s O $2,000) 52O $500
HOE $300[FEOF {#D $600
=0% T $100[HO=2 $6.000
I OMR $500[#FOF $6.000
BROW $50[HOA: $200
BROW $100|=OsH $1,200
BEOE $15.000|/#O % $2,000
HOE $500[EO54 $10,000
BO% $2,000[FFOBK $100
MO $50[ POk $100
HOLE $1,000|121Ot% $100
O $1,000|BE O $100
FHO[E[4k $500[#FOHH $100
1 OFIL $500 5 OE5E $3,000
HOFE $1,200)5TO $10,000
Ol $1.200[7FO $200




MEEANSETAIDFEHEENESE
REFHMEE (EEMR : BEFREAR'ETL)

1 2 b et E2Li HRREER
EOS $1,200{}iti OF5 $1,000
B OB $1.200[HO & $100
et A il T $5,800{FE ORI $100
AEOE $500[HO%H $100
HOIR $200[5RO=E $100
HFOR $200[5& Ot $100
=05 $150|5&OfH# $100
EAOLEES $100[5OZ& $100
ZOR $100[7R OB $100
PROIE $100[7R Ok $100
fiti OFI $100[5OF $100
O $10.000|#O-F $100
{ROFZ $10,000| £ OMH, $100
sHO $1.000[=O% $100
EHOE $1,000{= OB $100
O $100[Z O $300
O $400| = Ok $300
O $100[=O= $2,000
O $400[ OB, $200
BROE $150[#O1E $200
PO $1.000(HOE $5,000
£0 $100[E O $100
O $1,000|EHOKE $1,000
FOE $250|BROF $100
fTOTF $100[#E Ot $100
RO $300[E=OL $100
OB $50,000|21OF $100
TOEE $2,000|E= OB $100
ROSH $300[EOFH $1,000
SOt $300|E=OE $2,000
RO $500|AOH $500
BROME $500[= Oli% $2.000
BROZR $100[FR O $100
EOTE $100[FOEHD $10,000
sHOH $100[HOZY $5.000
= O $150

/et $19,961,279 /et $24,270,891

A

[

$44,232,170




